

In this issue	Page
Rates Pooled Money Investment Board	
Notice of investment rates	833
Notices	
Linn County, Kansas Request for bids for ambulance service	833
Kansas Criminal Justice Coordinating Council  Notice of available grant funding for the Federal Edward Bryne  Memorial Justice Assistance Grant	833
Kansas Historic Sites Board of Review Notice of meeting	
Kansas Department of Administration – Office of Procurement and Contracts  Notice to bidders for state purchases and request for proposals for leased office space	834
Kansas Department of Administration – Office of Facilities and Property Manage Notice of requested "on-call" mechanical-electrical-plumbing engineering services	
Kansas Department of Transportation	034
Notice to consulting firms for highway design	
Notice to contractors	836
Notice of intent to lease land and/or building space	837
Notices of intent to lease real property	
Kansas Department of Health and Environment  Notice concerning water pollution control permits and applications	838
Kansas Department for Aging and Disability Services and	
Kansas Department of Health and Environment – Division of Health Care Finance Notice of final nursing facility Medicaid rates for state fiscal year 2021	839
Kansas Department of Health and Environment – Division of Health Care Finance Notice of amendment to the Medicaid State Plan	
Executive Branch	
Office of the Governor Executive Directive No. 20-519, authorizing expenditure of federal funds	851
Secretary of State Executive appointments	851
Bonds	
City of Elk City, Kansas  Notice of intent to seek private placement general obligation bonds	853
City of Blue Rapids, Kansas  Notice of intent to seek private placement general obligation bonds	853
City of Andover, Kansas Summary notice of bond sale	853
Regulations	
Kansas Board of Regents  Notice of hearing on proposed administrative regulations	25/
Kansas Lottery Temporary administrative regulations	
• •	
Index to administrative regulations	871

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. Periodicals postage paid at Topeka, Kansas.

POSTMASTER: Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 SW 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2020. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF Format) can be found at the following link: http://www.sos.ks.gov/pubs/pubs\_kansas\_register.asp.

Register Office: 1st Floor, Memorial Hall 785-368-8095 Fax 785-296-8577 kansasregister@ks.gov



Published by Scott Schwab Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594 785-296-4564 https://sos.kansas.gov

**Cover Artwork:** Cottonwood Leaves, Statewide Photo by Todd Caywood

#### State of Kansas

## **Pooled Money Investment Board**

## **Notice of Investment Rates**

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

Effective 6-22-20 through 6-28-20	
Term	Rate
1-89 days	0.09%
3 months	0.14%
6 months	0.16%
12 months	0.16%
18 months	0.18%
2 years	0.19%

Scott Miller Director of Investments

Doc. No. 048231

(Published in the Kansas Register June 25, 2020.)

## Linn County, Kansas

### **Request for Bids**

The Board of Commissioners of Linn County, Kansas is accepting bids for the provision of ambulance services in Linn County. Bids will be accepted until 10:00 a.m., July 20, 2020.

For a copy of the bid criteria or questions about the bidding procedure, please contact the Linn County Clerk, PO Box 350, 315 Main St., Mound City, KS, 66056, DLamb@LinnCountyKS.com or 913-795-2668.

Linn County reserves the right to reject any or all bids.

David Lamb Clerk

Doc. No. 048223

#### State of Kansas

## **Criminal Justice Coordinating Council**

## Notice of Available Grant Funding for the Federal Edward Byrne Memorial Justice Assistance Grant

The Kansas Criminal Justice Coordinating Council (KCJCC) establishes the guidelines for the Federal Edward Byrne Memorial Justice Assistance Grant (JAG). The KCJCC and the JAG program guidelines establish eligibility criteria for all organizations receiving JAG funds. Eligible applicants for JAG funding include units of state and local government; Native American Tribes; and nonprofit, community, and faith-based organizations, including underserved and culturally specific populations.

Priority will be given to applications clearly supporting the objectives of the current Kansas Statewide Strategic Plan and submitting a complete application. A copy of the Strategic Plan, as well as a copy of the JAG solicitation, may be downloaded at <a href="https://grants.ks.gov/opportunities/edward-j-byrne-memorial-justice-assistance-grant-(jag)">https://grants.ks.gov/opportunities/edward-j-byrne-memorial-justice-assistance-grant-(jag)</a>. The solicitation is also available on the Governor's Grant Portal at <a href="https://www.kansas.gov/grants/index.do">https://www.kansas.gov/grants/index.do</a>.

All grant applications must be submitted via the Governor's Grant Portal by 11:59 p.m. July 15, 2020. To quickly locate the solicitation in the grant portal, use "JAG" for the keyword in your search. For more information, contact the Kansas Governor's Grants Program at 785-291-3205.

Juliene Maska, Administrator Kansas Governor's Grants Program

Doc. No. 048232

#### State of Kansas

### **Historic Sites Board of Review**

## **Notice of Meeting**

The Kansas Historic Sites Board of Review will meet at 9:00 a.m. Saturday, August 1, 2020, at the Kansas Historical Society, 6425 SW 6th Ave., Topeka, Kansas. Please note, the Kansas Historical Society is taking extra steps to keep the public, staff members, and their families safe. We are opening in phases based on the state and county health guidelines. We encourage you to attend the meeting virtually instead of in person. The link will be posted on our website 14 days before the meeting at https://www.kshs.org/14633.

The Board will consider the following items:

- I. Approval of Minutes from February 1, 2020 meeting
- II. Update on KSHS Program Activities
- III. Consideration of National Register Nominations (\* denotes properties within a certified local government boundary)
  - Lowell School Salina, Saline County\* KHRI # 169-4900-00172
  - National Bank of America (boundary increase) Salina, Saline County\* KHRI # 169-4900-00257
  - Clay Center Downtown Historic District Clay Center, Clay County KHRI # 027-310
  - Holy Family Catholic Church Eudora, Douglas County\* KHRI # 045-1730-00002
  - William Small Memorial Home for Aged Women – Leavenworth, Leavenworth County\* KHRI # 103-3020-00032
  - McCormick-Armstrong Press Building Wichita, Sedgwick County\* KHRI # 173-11097
  - Century II Civic Center Wichita, Sedgwick County\* KHRI # 173-5880-09048
  - 8. Public Library Wichita, Sedgwick County\* KHRI # 173-5880-09052
  - 9. High Rise Apartments Great Bend, Barton County KHRI # 009-202

- 10. Grimm-Schultz Farmstead Alma, Wabaunsee County KHRI # 197-0000-00046; Barn 197-353; Cattle
  - Shed 197-355; Corn Crib 197-351; Granary 197-352; Hay Barn 197-354; House 197-350
- 11. Charles & Dorothy Kouns House Topeka, Shawnee County\* KHRI # 177-5400-00046
- 12. Fire Station No 6 Topeka, Shawnee County\* KHRI # 177-2601
- 13. Historic Houses of the Garlinghouse Company in Topeka - Topeka, Shawnee County\* KHRI # ---
- 14. Lippitt House Topeka, Shawnee County\* KĤRI # 177-4237
- 15.116 The Drive Topeka, Shawnee County\* KHRI # 177-4185
- IV. Delisting of National Register Nominations
  - 1. St. John the Divine Kansas City, Wyandotte County\* KHRI # 209-2190
- V. Consideration of State Register Nominations
  - 1. Sylvan Grove Downtown Historic District Sylvan Grove, Lincoln County KHRI # 105-276
  - 2. Furry Homestead Kingman, Kingman County KHRI # 095-74

The Kansas State Historical Society welcomes individuals with disabilities to participate in its activities. If you have a visual, aural, or other impairment and wish to participate in this meeting, please contact the Cultural Resources Division of the Kansas State Historical Society, 6425 SW 6th Ave., Topeka, KS 66615-1099 or by telephone at 785-272-8681 ext., 240 at least two weeks prior to the meeting to discuss how we can ensure your participation.

> **Jennie Chinn Executive Director**

Doc. No. 048238

#### State of Kansas

## Department of Administration Office of Procurement and Contracts

#### **Notice to Bidders**

Sealed bids for items listed will be received by the Director of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376:

07/13/2020	EVT0007449	Security Guard Services
07/14/2020	EVT0007450	Security Guard Services
07/15/2020	EVT0007451	Security Guard Services
07/16/2020	EVT0007453	Grounds Maintenance Services
07/20/2020	EVT0007455	Food Warehousing and Delivery
		Services
07/15/2020	EVT0007454	Automated Biometric
		Identification System
07/29/2020	EVT0007457	Enterprise Network Monitoring
		Solution

The above referenced bid documents can be downloaded at the following website:

http://admin.ks.gov/offices/procurement-and-contracts/ bid-solicitations

## LEGAL NOTICE State of Kansas

## Request for Proposals for Leased Office Space

The State of Kansas is accepting electronic or written proposals for leased space in Fort Scott, Kansas, to house the operations of the Kansas Department of Revenue Driver's License Examination office. The information pertaining to this space search is available at:

http://www.admin.ks.gov/offices/ofpm/real-estateleasing/bid-solicitations-for-leased-space

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

http://admin.ks.gov/offices/procurement-and-contracts/ additional-files-for-bid-solicitations

07/28/2020 A-013885 Kansas State University; Steam and Condensate Insulation Upgrades

Information regarding prequalification, projects. and bid documents can be obtained at 785-296-8899 or http:// admin.ks.gov/offices/ofpm/dcc.

> Richard Beattie, Director Office of Procurement and Contracts

Doc. No. 048245

#### State of Kansas

## Department of Administration Office of Facilities and Property Management

## Notice of Requested "On-Call" Engineering Services

Notice is hereby given of the commencement of the selection process for "on-call" mechanical-electricalplumbing engineering services for Pittsburg State University. Services are required for restricted (small) projects with a project budget of \$1,000,000 or less. Two firms will be selected. The contract will be for three years.

For more information, contact Lindell Haverstic at lhaverstic@pittstate.edu, phone 620-235-4130. Firms interested in providing these services should be familiar with the requirements which can be found in Part B-Chapter 4 of the Building Design and Construction Manual at the website below.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at http://admin.ks.gov/offices/ofpm/dcc/f-and-d. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation, and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 MB and follow the current State Building Advisory

Commission guidelines which can be found in Part B – Chapter 2 of the Building Design and Construction Manual at http://www.admin.ks.gov/offices/ofpm/dcc/bdcm. Proposals should be sent on a flash drive along with a transmittal to Randy Riveland, Office of Facilities and Property Management, 700 SW Harrison St., Suite 1200, Topeka, KS 66603. Proposals sent via email will no longer be accepted and paper copies of the proposals are no longer required. It is the proposer's responsibility to ensure proposals are received by the closing date and time. Delays in mail delivery or any other means of transmittal, including couriers or agents of the issuing entity shall not excuse late proposal submissions. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions, call 785-296-0749. The PDF proposal submissions shall be delivered to the attention of Randy Riveland by 2:00 p.m. on or before July 10, 2020.

The State of Kansas, as a matter of public policy, encourages anyone doing business with the State of Kansas to take steps to discourage human trafficking. If prospective bidders/vendors/contractors have any policies or participate in any initiatives that discourage human trafficking, the prospective bidder/vendor/contractor is encouraged to submit same as part of their bid response.

Frank Burnam, Director Office of Facilities and Property Management Doc. No. 048237

#### State of Kansas

## Department of Transportation

## **Notice to Consulting Firms**

The Kansas Department of Transportation (KDOT) is seeking a consulting firm for the project listed below. Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in category 212 Highway Design – Minor Facility and must submit a Letter of Interest (LOI) on or before 12:00 p.m. July 3, 2020 to David Lutgen, P.E., Contracts Engineer for KDOT at kdot.designcontracts@ks.gov, with the subject line reading Passing Lane Bundles\_FIRM NAME. A PDF (2Mb maximum size) of the interest and experience responses are limited to four pages.

If a firm is not currently prequalified by KDOT a LOI may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms may use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification category definitions (Blue Book) can be found at <a href="http://www.ksdot.org/descons.asp">http://www.ksdot.org/descons.asp</a>. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules and regulations.

#### Project

**KDOT Passing Lanes Bundles** 

## West Bundle

50-29 KA-5780-01 US-50 Ford County: East of Spearville

50-24 KA-5779-01 54-49 KA-5783-01 54-49 KA-5785-01 54-76 KA-5784-01	US-50 Edwards County: Between Offerle and Kinsley US-54 Kiowa County: Between Greensburg and Haviland US-54 Kiowa County: Between Ford/ Kiowa County line and Mullinville US-54 Pratt County: Between
	Wellsford and Cullison
East Bundle	
50-40 KA-1827-05	US-50: From 5 miles east of US-50/RS-305 junction, east for 0.8 mile
169-67 KA-5789-01	US-169 Neosho County: Between Wilson/Montgomery County line and Thayer
169-67 KA-5788-01	US-169 Neosho County: Between K-47 and Earlton
400-37 KA-5790-01	US-400 Greenwood County: Between Piedmont and Severy
400-11 KA-2375-10	US-400: From 4.1 miles east of US-400/K-7 junction, east for 2 miles
50-106 KA-5787-01	US-50 Harvey/Marion Counties: West of Peabody

The Kansas DOT is seeking consultant services to prepare construction drawings for the extensions or additions of passing lanes for the projects listed above. Design surveys are currently in progress for all projects and will be provided by KDOT. One consulting firm will be selected for each bundle of projects.

#### **Instructions for LOI**

The main text of consultant's LOI must not exceed four (4) pages to address the topics listed below. LOI's shall address and include the following items:

- Project manager/engineer in charge.
- Provide name(s), qualifications, education, training, and expertise as well as prior relevant experience of consultant personnel intended to perform services.

#### **Qualifications-Based Selection Process**

No cost or pricing information shall be submitted with the LOI and will not be considered in the selection process to shortlist or rank proposals. Based on the qualifications submitted in the LOI and other information available to KDOT, on or about July 15, 2020 KDOT will shortlist three to five firms and notify all firms submitting LOIs of the names of the shortlisted firms by return email. Thereafter, KDOT will issue a Request for Proposal (RFP) to the shortlisted firms soliciting a technical proposal. At KDOT's option, shortlisted firms may be interviewed by telephone conference call or asked to attend meetings or participate in other discussions with KDOT. Technical proposals will be evaluated on the basis of the factors listed below, evenly weighted, to rank the most qualified firm in order of preference as first, second and third: 1) the quality and completeness of the response; 2) qualifications and experience of consultant design personnel/manager proposed for services; 3) proposed project approach; 4) availability to respond to the work; and 5) past performance history for similar projects/services for KDOT. The highest ranked firm will be asked to enter into negotiations with KDOT for a contract, with compensation provisions for payment of actual direct (continued)

costs plus fixed fee, subject to an upper limit of compensation. In the event KDOT cannot reach agreement with the highest ranked firm, it will terminate negotiations with such firm and commence negotiations with the next highest ranked firm, and so on, until either agreement is reached for a satisfactory scope of services for a fair and reasonable price, or KDOT decides to pursue other alternatives.

#### **Contract Terms and Conditions**

A standard KDOT agreement for engineering and technical services will be used for this project. Special attachments for the Kansas "Tax Clearance Certificate," the "Certification of Final Indirect Costs," and the Special Attachment No. 10 ("Policy Regarding Sexual Harassment") will also eventually become attachments to the contract. Being selected as a prime or subconsultant firm on these passing lane projects does not preclude the firm from being the prime program management consultant (PMC) or subconsultant for the Eisenhower Legacy Transportation Program (IKE) or the prime PMC or subconsultant for the US-69 expansion project 69-46 KA-5700-01.

The firm's accounting systems must have the following capabilities before the firm may be awarded a contract.

- Valid, reliable, and current costs must be available within the system to support actual costs and pricing data.
- Capability to provide a means of measuring the reasonableness of incurred costs.
- Capability to identify and accumulate allowable costs by contract or project records which will reconcile with the general ledger.
- Ability to provide supporting documentation of actual expenditures for each billing, based on costs.

Questions can be submitted to David Lutgen, P.E., Contracts Engineer at kdot.designcontracts@ks.gov.

David Lutgen, P.E. Contracts Engineer

Doc. No. 048229

#### State of Kansas

## Department of Transportation

### **Notice to Contractors**

Electronic copies of the letting proposals and plans are available on the Kansas Department of Transportation (KDOT) website at https://kdotapp.ksdot.org/Proposal/ Proposal.aspx. The website will allow the contractor to request approval from KDOT to bid as a prime contractor and be included on the "Bid Holders List," or to be included on the "Non-Bid Holders List" as a subcontractor/ supplier. KDOT's approval is required to bid as a prime contractor. To bid as a prime contractor, KDOT needs to be notified of the intent to bid no later than the close of business on the Monday preceding the scheduled letting date. Failure to obtain prior approval to bid as a prime contractor on any projects listed below will be reason to reject your bid. The Secretary reserves the right to reject bids that do not comply with all requirements for preparing a bidding proposal as specified in the 2015 edition of the Kansas Department of Transportation *Standard Specifications for State Road and Bridge Construction*.

KDOT will only accept electronic internet proposals using the Bid Express website at http://www.bidx.com until 1:00 p.m. (CST) July 22, 2020. KDOT will open and read these proposals at the Eisenhower State Office Building, 700 SW Harrison, Topeka, Kansas, at 2:00 p.m. (CST) July 22, 2020. An audio broadcast of the bid letting is available at http://www.ksdot.org/burconsmain/audio.asp.

Each bidder shall certify that such person, firm, association, or corporation has not, either directly or indirectly, entered into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with the submitted bid. This certification shall be in the form of a required contract provision provided by the state to each prospective bidder. Failure to complete the required contract provision and certify the completeness of the preceding statement when electronically signing the proposal will make the bid non-responsive and not eligible for award consideration.

#### District One - Northeast

**Atchison** – 3 C-4959-01 – Bridge over Tributary to Stranger Creek located 1.7 miles south and 1.9 miles east of Effingham, bridge replacement, 0.1 mile. (Federal Funds)

**Johnson** – 435-46 KA-5632-01 – I-435, from Midland Drive north to the Johnson/Wyandotte county line, milling and overlay, 3.1 miles. (Federal Funds)

**Riley** – 81 U-2361-01 – Bridge over Dry Branch located approximately 200 feet northeast of the intersection of 12th Street and Elm Street in Ogden, bridge replacement, 0.1 mile. (Federal Funds)

**Statewide** – 106 KA-5620-01 – ADA curb ramps at various locations in Districts One, Two, Three and Six, special. (State Funds)

## District Two - North Central

**Dickinson** – 70-21 KA-3954-01 – I-70, bridges #030 and #031 over Chapman Creek located 0.29 mile east of K-206, bridge replacement. (Federal Funds)

**McPherson** – 04-59 KA-5648-01 – K-4, bridge #116 over Bethany Drive located 2.62 miles south of the McPherson/Saline county line, bridge overlay. (Federal Funds)

**Statewide** – 106 KA-5778-01 – Various locations in District 2 in Chase, Dickinson, Geary, Lincoln, Morris and Ottawa counties, milling. (State Funds)

#### **District Three - Northwest**

Osborne – 24-71 KA-5539-01 – U.S. 24, beginning 1.22 miles north of the south U.S. 24/U.S. 281 junction north approximately 924 feet to a point 1.40 miles north of the south U.S. 24/ U. S. 281 junction, grading, 0.2 mile. (State Funds)

**Russell** – 84 C-4933-01 – Major collectors located south of I-70 in the county, signing, 120.0 miles. (Federal Funds)

#### District Four - Southeast

**Labette** – 59-50 KA-5154-01 – U.S. 59, from 75 feet north of Commerce Street north 1,420 feet, pavement reconstruction, 0.3 mile. (Federal Funds)

**Statewide** – 106 KA-5773-01 – Various locations in District 4 in Greenwood, Woodson, Linn, Bourbon, Neosho, Montgomery, Cherokee and Crawford counties, milling. (State Funds)

#### **District Five – South Central**

**Butler** – 8 N-0685-01 – Pedestrian/bike path on North Andover Road from U.S. 54 to Central Avenue in Andover, pedestrian and bicycle paths, 1.0 mile. (Federal Funds) **Reno** – 50-78 KA-4748-03 – U.S. 50 and K-61 in the county, signing, 66.9 miles. (Federal Funds)

> Julie Lorenz Secretary

Doc. No. 048233

#### State of Kansas

## Wichita State University

## Notice of Intent to Lease Land and/or Building Space

Public notice is hereby given that Wichita State University (WSU) intends to lease available land and building space. The university will consider leasing such property and/or space to those whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good, or otherwise provide supporting services and amenities to the campus community (such as restaurants, retail establishments, financial institutions, etc.). Because tenant use must be a good fit with the university's educational mission and available space, please be prepared to provide the following information: (1) name; (2) square footage of space needs and desired lease term and location; (3) equipment, design, or other special needs; (4) description of anticipated use; and (5) the anticipated benefits to the university, its students, and the WSU community (e.g. applied learning, joint research, faculty start-up, etc.). The university will consider serious offers and inquiries from any financially qualified individual, group, organization, or company. If interested, please contact Vice President for Research & Technology Transfer, Dr. John Tomblin, john.tomblin@ wichita.edu or Property Manager Crystal Stegeman, crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

> Crystal Stegeman University Property Manager Office of the Vice President for Administration and Finance Wichita State University

Doc. No. 047620

## **State of Kansas**

## Wichita State University

## Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU) is interested in entering into a long-term ground lease, subject to all required state approvals, for

approximately 1.4 acres of property located at 1741 and 1755 N. Hillside. The university is interested in leasing such property to any individual, organization, or entity whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good and providing retail, restaurant, and service centers that would be desirable and beneficial to the international student community. The university intends to lease this property for any period of time up to 65 years, but extended terms and renewal options would be considered. Interested tenants must be willing to provide the university an option to lease back improved office/classroom/lab space up to 11,000 square feet. Interested tenants must be a good fit with the university's educational mission and identify anticipated benefits to the university, its students, and the WSU community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: financial stability and strength, proposal terms, demonstrated benefit to WSU and the community, design concepts, and proposed use. Rental rate may be negotiated based on square foot of leased ground or leasable square foot of the building. The university will consider serious offers and inquiries with detailed proposal terms from any financially qualified individual, group, organization, or company and such offers will be considered until a selection is made or this notice is withdrawn. If interested, please contact University Property Manager Crystal Stegeman at crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

Crystal Stegeman
University Property Manager
Office of the Vice President for
Finance and Administration
Wichita State University

Doc. No. 047955

#### State of Kansas

## Wichita State University

### Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU) intends to directly lease, and indirectly sublease through its affiliate corporation Wichita State Innovation Alliance, Inc., subject to all required state approvals, for the private development of one or more partnership buildings. This private development shall be located west of Oliver, between 17th and 18th Streets, on the Wichita State University main campus. The university is interested in leasing such ground to any individual, organization, or entity whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good, and specifically an emphasis on supporting and growing advanced laboratories for research, testing, and innova-(continued)

tion in data infrastructure/storage, video surveillance storage, IOT, security, analytics, visualization/modeling, and machine learning/AI. The university intends to lease such ground for any period of time up to sixty-five years, but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with the university's educational mission and identify anticipated benefits to the university, its students, and the WSU community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU, design concepts, financial stability, and proposed use. Rental rate shall be assessed per leased or leasable square foot of the building but is negotiable based on term of lease and benefit to the university. The university will consider serious offers and inquiries with detailed proposal terms from any financially qualified individual, group, organization, or company and such offers will be considered until a selection is made or this notice is withdrawn. If interested, please contact Associate Vice President for Industry Engagement and Applied Learning, Tonya Witherspoon at tonya.witherspoon@wichita.edu or University Property Manager Crystal Stegeman at crystal.stegeman@ wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

Crystal Stegeman
University Property Manager
Office of the Vice President for
Finance and Administration
Wichita State University

Doc. No. 047956

## State of Kansas

## Department of Health and Environment

## Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 17, 28-18a-1 through 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

## Public Notice No. KS-AG-20-127/133

## **Pending Permits for Confined Feeding Facilities**

Name and Address of Applicant	Legal Description	Receiving Water
Mazanec Cattle Company, LLC Cole Mazanec PO Box 447 Colby, KS 67701	NW/4 of Section 16 and NE/4 of Section 17 T08S, R34W Thomas County	Upper Republican River Basin

Kansas Permit No. A-URTH-C004 Federal Permit No. KS0092461

An update to the Nutrient Management Plan (NMP) was received for this existing facility. The facility's NMP was updated to include the addition of a new application field. The proposed action is to modify the current NPDES permit for an existing facility. The modification to the permit will change the requirement of the facility to export all solid manure to being allowed to apply solid manure to fields controlled by the facility. There are no other changes to the permit. Only the portions of the permit being modified are subject to comment. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Bertrand Cattle, Inc. Brent Bertrand 501 Quail	NW/4 of Section 14 T13S, R37W Logan County	Smoky Hill River Basin
Wallace, KS 67761	Logari Courty	

Kansas Permit No. A-SHLG-C002 Federal Permit No. KS0087255

This permit is being reissued for an existing facility with a maximum capacity of 4,999 head (4,999 animal units) of cattle more than 700 pounds. There is no change in the permitted animal units. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Hachmeister Cattle Co. Paul Hachmeister 3080 K-18 Hwy.	SE/4 of Section 12 T10S, R16W Rooks County	Saline River Basin
Natoma KS 67651	noons county	

Kansas Permit No. A-SARO-C001 Federal Permit No. KS0115371

The proposed action is to reissue an existing NPDES permit for an existing facility for 4,999 head (4,999 animal units) of cattle weighing more than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
J-Six Enterprises, LLC – Westgate/Nursery/ Finish Jennifer Gerety 604 Nemaha PO Box 170 Seneca, KS 66538	SW/4 of Section 13 and NE/4 of Section 23 T05S, R01E Washington County	Lower Republican River Basin

Kansas Permit No. A-LRWS-S029

The proposed action is to reissue a state permit for an existing facility for 1,600 head (640 animal units) of swine weighing more than 55 pounds and 1,800 head (180 animal units) of swine weighing 55 pounds or less. The maximum capacity of the facility is 820 animal units of swine. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
C & F Farm Richard C. Frank 8551 SW 20th St. Columbus, KS 66725	SW/4 of Section 26 T34S, R23E Cherokee County	Neosho River Basin

Kansas Permit No. A-NECK-F016

The proposed action is to reissue a state permit for an existing facility for 22,000 head (396 animal units) of turkeys. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Ingalls Feed Yard 10505 U.S. 50 Hwy. Ingalls, KS 67853	NW/4 of Section 26, All of Section 27 and S/2 of Section 23 T25S, R29W Gray County	Upper Arkansas River Basin

Kansas Permit No. A-UAGY-C006 Federal Permit No. KS0115274

This permit is being reissued for a confined animal feeding operation for 40,000 head (40,000 animal units) of beef cattle weighing greater than 700 pounds. There is no change in the permitted animal units from the previous permit. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Arndt and Jones Feedyard, LLC Steven Arndt 1520 W. 6th Emporia, KS 66801	SE/4 of Section 30 T18S, R31W Scott County	Upper Arkansas River Basin
Vancas Parmit No. A.1	IASC CO25	

Kansas Permit No. A-UASC-C025
Federal Permit No. KS0094153
This is a permit renewal for an existing fa

This is a permit renewal for an existing facility with a maximum capacity of 4,837 head (4,837 animal units) of cattle weighing greater than 700 pounds and 3,000 head (1,500 animal units) of cattle weighing 700 pounds or less; for a total of 6,337 animal units of cattle. There has been no increase in the permitted number of animal units. This facility has an approved Nutrient Management Plan on file with KDHE.

### Public Notice No. KS-Q-20-106

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-g), and Federal Surface Water Criteria.

Name and Address of Applicant	Receiving Stream	Type of Discharge
El Paso Merchant Energy Petroleum 2 N. Nevada Ave. Colorado Springs, CO 80903	Whitewater Creek via pipeline	Process Wastewater
V D	A 0.4 DO01	

Kansas Permit No. I-WA04-PO01 Federal Permit No. KS0090115 Facility Name: EPME-PC – Benton

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This facility is engaged in a groundwater remediation project. Naphtha contaminated groundwater is collected in a series of recovery trenches and discharged through a mineral pre-treatment Aeration Tower (AT) into a Precipitation Settling Tank (PST). Iron and other materials precipitate and settle within the PST. The PST effluent is pumped to an air stripper for Volatile Organic Compounds (VOC) removal. The proposed permit contains limits for benzene and pH, as well as monitoring for flow and total petroleum hydrocarbon.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612-1367.

All comments regarding the draft documents or application notices received on or before July 25, 2020, will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-20-127/133, KS-Q-20-106) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the Secretary of Health and Environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, Kansas. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available at <a href="http://www.kdheks.gov/feedlots">http://www.kdheks.gov/feedlots</a>. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

Lee A. Norman, M.D. Secretary

Doc. No. 048235

### **State of Kansas**

## Department for Aging and Disability Services Department of Health and Environment Division of Health Care Finance

Notice of Final Nursing Facility Medicaid Rates for State Fiscal Year 2021; Methodology for Calculating Rates, and Rate Justifications; Response to Written Comments; Notice of Intent to Amend the Medicaid State Plan

Under the Medicaid program, 42 U.S.C. 1396 et seq., the State of Kansas pays nursing facilities, nursing facilities for mental health, and hospital long-term care units (hereafter collectively referred to as nursing facilities) a daily rate for care provided to residents who are eligible for Medicaid benefits. The Secretary of Aging and Disability Services administers the nursing facility program, which includes hospital long-term care units, and the (continued)

nursing facility for mental health program. The Secretary acts on behalf of the Kansas Department of Health and Environment Division of Health Care Finance (DHCF), the single state Medicaid agency.

As required by 42 U.S.C. 1396a(a)(13), as amended by Section 4711 of the Balanced Budget Act of 1997, P.L. No. 105-33, 101 Stat. 251, 507-08 (August 5, 1997), the Secretary of the Kansas Department for Aging and Disability Services (KDADS) is publishing the proposed Medicaid per diem rates for Medicaid-certified nursing facilities for State Fiscal Year 2021, the methodology underlying the establishment of the nursing facility rates, and the justifications for those rates. KDADS and DHCF are also providing notice of the state's intent to submit amendments to the Medicaid State Plan to the U. S. Department of Health and Human Services' Centers for Medicare and Medicaid Services (CMS) on or before September 30, 2020.

## I. Methodology Used to Calculate Medicaid Per Diem Rates for Nursing Facilities.

In general, the state uses a prospective, cost-based, facility-specific rate-setting methodology to calculate nursing facility Medicaid per diem rates, including the rates listed in this notice. The state's rate-setting methodology is contained primarily in the following described documents and authorities and in the exhibits, attachments, regulations, or other authorities referenced in them:

A. The following portions of the Kansas Medicaid State Plan maintained by DHCF are being revised:

1. Attachment 4.19D, Part I, Subpart C, Exhibit C-1, inclusive;

The text of the portions of the Medicaid State Plan identified above in section IA.1, but not the documents, authorities and the materials incorporated therein by reference, is reprinted in this notice. The Medicaid State Plan provisions set out in this notice appears in the version which the state currently intends to submit to CMS on or before September 30, 2020. The Medicaid State Plan amendment that the state ultimately submits to CMS may differ from the version contained in this notice.

Copies of the documents and authorities containing the state's rate-setting methodology are available upon written request. A request for copies will be treated as a request for public records under the Kansas Open Records Act, K.S.A. 45-215 et seq. The state may charge a fee for copies, in accordance with Executive Order 18-05. Written requests for copies should be sent to:

Secretary of Aging and Disability Services New England Building, Second Floor 503 S. Kansas Ave. Topeka, KS 66603-3404 Fax: 785-296-0767

# A.1 Attachment 4.19D, Part I, Subpart C, Exhibit C-1: Methods and Standards for Establishing Payment Rates for Nursing Facilities

Under the Medicaid program, the State of Kansas pays nursing facilities (NF), nursing facilities for mental health (NFMH), and hospital long-term care units (hereafter collectively referred to as nursing facilities) a daily rate for care provided to residents who are eligible for Medicaid benefits. The narrative explanation of the

nursing facility reimbursement formula is divided into 11 sections. The sections are: Cost Reports, Rate Determination, Quarterly Case Mix Index Calculation, Resident Days, Inflation Factors, Upper Payment Limits, Quarterly Case Mix Rate Adjustment, Real and Personal Property Fee, Incentive Factors, Rate Effective Date, and Retroactive Rate Adjustments.

## 1) Cost Reports

The Nursing Facility Financial and Statistical Report (MS2004) is the uniform cost report. It is included in Kansas Administrative Regulation (K.A.R.) 129-10-17. It organizes the commonly incurred business expenses of providers into three reimbursable cost centers (operating, indirect health care, and direct health care). Ownership costs (i.e., mortgage interest, depreciation, lease, and amortization of leasehold improvements) are reported but reimbursed through the real and personal property fee. There is a non-reimbursable/non-resident related cost center so that total operating expenses can be reconciled to the providers' accounting records.

All cost reports are desk reviewed by agency auditors. Adjustments are made, when necessary, to the reported costs in arriving at the allowable historic costs for the rate computations.

## Calendar Year End Cost Reports:

All providers that have operated a facility for 12 or more months on December 31 shall file a calendar year cost report. The requirements for filing the calendar year cost report are found in K.A.R. 129-10-17.

When a non-arms length or related party change of provider takes place or an owner of the real estate assumes the operations from a lessee, the facility will be treated as an ongoing operation. In this situation, the related provider or owner shall be required to file the calendar year end cost report. The new operator or owner is responsible for obtaining the cost report information from the prior operator for the months during the calendar year in which the new operator was not involved in running the facility. The cost report information from the old and new operators shall be combined to prepare a 12-month calendar year end cost report.

#### Projected Cost Reports:

The filing of projected cost reports are limited to: 1) newly constructed facilities; 2) existing facilities new to the Medicaid program; or 3) a provider re-entering the Medicaid program that has not actively participated or billed services for 24 months or more. The requirements are found in K.A.R. 129-10-17.

## 2) Rate Determination

## Rates for Existing Nursing Facilities

Medicaid rates for Kansas NFs are determined using a prospective, facility-specific rate-setting system. The rate is determined from the base cost data submitted by the provider. The current base cost data is the combined calendar year cost data from each available report submitted by the current provider during 2017, 2018, and 2019.

If the current provider has not submitted a calendar year report during the base cost data period, the cost data submitted by the previous provider for that same period will be used as the base cost data. Once the provider completes their first 24 months in the program, their first calendar year cost report will become the provider's base cost data.

The allowable expenses are divided into three cost centers. The cost centers are Operating, Indirect Health Care and Direct Health Care. They are defined in K.A.R. 129-10-18.

The allowable historic per diem cost is determined by dividing the allowable resident related expenses in each cost center by resident days. Before determining the per diem cost, each year's cost data is adjusted from the midpoint of that year to April 30, 2019. The resident days and inflation factors used in the rate determination will be explained in greater detail in the following sections.

The inflated allowable historic per diem cost for each cost center is then compared to the cost center upper payment limit. The allowable per diem rate is the lesser of the inflated allowable historic per diem cost in each cost center or the cost center upper payment limit. Each cost center has a separate upper payment limit. If each cost center upper payment limit is exceeded, the allowable per diem rate is the sum of the three cost center upper payment limits. There is also a separate upper payment limit for owner, related party, administrator, and co-administrator compensation. The upper payment limits will be explained in more detail in a separate section.

The case mix of the residents adjusts the Direct Health Care cost center. The reasoning behind a case mix payment system is that the characteristics of the residents in a facility should be considered in determining the payment rate. The idea is that certain resident characteristics can be used to predict future costs to care for residents with those same characteristics. For these reasons, it is desirable to use the case mix classification for each facility in adjusting provider rates.

There are add-ons to the allowable per diem rate. The add-ons consist of the incentive factor, the real and personal property fee, and per diems to cover costs not included in the cost report data. The incentive factor and real and personal property fee are explained in separate sections of this exhibit. The rate components are explained in separate subparts of Attachment 4.19D of the State Plan. The add-ons plus the allowable per diem rate equal the total per diem rate.

## Rates for New Construction and New Facilities (New **Enrollment Status**)

The per diem rate for newly constructed nursing facilities, or new facilities to the Kansas Medical Assistance program shall be based on a projected cost report submitted in accordance with K.A.R. 129-10-17.

The cost information from the projected cost report and the first historic cost report covering the projected cost report period shall be adjusted to April 30, 2019. This adjustment will be based on the IHS Global Insight, National Skilled Nursing Facility Market Basket Without Capital Index (IHS Index). The IHS indices listed in the latest available quarterly publication will be used to adjust the reported cost data from the midpoint of the cost report period to April 30, 2019. The provider shall remain in new enrollment status until the base data period is reestablished. During this time, the adjusted cost data shall be used to determine all rates for the provider. Any

additional factor for inflation that is applied to cost data for established providers shall be applied to the adjusted cost data for each provider in new enrollment status.

## Rates for Facilities Recognized as a Change of Provider (Change of Provider Status)

The payment rate for the first 24 months of operation shall be based on the base cost data of the previous owner or provider. This base cost data shall include data from each calendar year cost report that was filed by the previous provider from 2017-2019. If base cost data is not available, the most recent calendar year data for the previous provider shall be used. Beginning with the first day of the 25th month of operation the payment rate shall be based on the historical cost data for the first calendar year submitted by the new provider.

All data used to set rates for facilities recognized as a change-of-provider shall be adjusted to April 30, 2019. This adjustment will be based on the IHS Index. The IHS indices listed in the latest available quarterly publication will be used to adjust the reported cost data from the midpoint of the cost report period to April 30, 2019. The provider shall remain in change-of-provider status until the base data period is reestablished. During this time, the adjusted cost data shall be used to determine all rates for the provider. Any additional factor for inflation that is applied to cost data for established providers shall be applied to the adjusted cost data for each provider in change of provider status.

## Rates for Facilities Re-entering the Program (Reenrollment Status)

The per diem rate for each provider reentering the Medicaid program shall be determined from a projected cost report if the provider has not actively participated in the program by the submission of any current resident service billings to the program for 24 months or more. The per diem rate for all other providers reentering the program shall be determined from the base cost data filed with the agency or the most recent cost report filed preceding the base cost data period.

All cost data used to set rates for facilities reentering the program shall be adjusted to April 30, 2019. This adjustment will be based on the IHS Index. The IHS indices listed in the latest available quarterly publication will be used to adjust the reported cost data from the midpoint of the cost report period to April 30, 2019. The provider shall remain in reenrollment status until the base data period is reestablished. During this time, the adjusted cost data shall be used to determine all rates for the provider. Any additional factor for inflation that is applied to cost data for established providers shall be applied to the adjusted cost data for each provider in reenrollment status.

### 3) Quarterly Case Mix Index Calculation

Providers are required to submit to the agency the uniform assessment instrument, which is the Minimum Data Set (MDS), for each resident in the facility. The MDS assessments are maintained in a computer database.

The Resource Utilization Groups-III (RUG-III) Version 5.20, 34 group, index maximizer model is used as the resident classification system to determine all case- mix indices, using data from the MDS submitted by each facility.

Standard Version 5.20 (Set D01) case mix indices developed by the Centers for Medicare and Medicaid Services (CMS) shall be the basis for calculating facility average case mix indices to be used to adjust the Direct Health Care costs in the determination of upper payment limits and rate calculation. Resident assessments that cannot be classified will be assigned the lowest CMI for the State.

Each resident in the facility on the first day of each calendar quarter with a completed and submitted assessment shall be assigned a RUG-III 34 group calculated on the resident's most current assessment available on the first day of each calendar quarter. This RUG-III group shall be translated to the appropriate CMI. From the individual resident case mix indices, three average case mix indices for each Medicaid nursing facility shall be determined four times per year based on the assessment information available on the first day of each calendar quarter.

The facility-wide average CMI is the simple average, carried to four decimal places, of all resident case mix indices. The Medicaid-average CMI is the simple average, carried to four decimal places, of all indices for residents, including those receiving hospice services, where Medicaid is known to be a per diem payer source on the first day of the calendar quarter or at any time during the preceding quarter. The private-pay/other average CMI is the simple average, carried to four decimal places, of all indices for residents where neither Medicaid nor Medicare were known to be the payer source on the first day of the calendar quarter or at any time during the preceding quarter. Case mix indices for ventilator-dependent residents for whom additional reimbursement has been determined shall be excluded from the average CMI calculations.

Rates will be adjusted for case mix twice annually using case mix data from the two quarters preceding the rate effective date. The case mix averages used for the rate adjustments will be the simple average of the case mix averages for each quarter. The resident listing cut-off for calculating the average CMIs for each quarter will be the first day of the quarter. The following are the dates for the resident listings and the rate periods in which the average Medicaid CMIs will be used in the semi-annual rate-setting process.

#### Rate Effective Date: Cut-Off Dates for Quarterly CMI:

July 1January 1 and April 1January 1July 1 and October 1

The resident listings will be distributed to providers prior to the dates the semi-annual case mix adjusted rates are determined. This will allow the providers time to review the resident listings and make corrections before they are notified of new rates. The cut off schedule may need to be modified in the event accurate resident listings and Medicaid CMI scores cannot be obtained from the MDS database.

## 4) Resident Days

### Facilities with 60 beds or less:

For facilities with 60 beds or less, the allowable historic per diem costs for all cost centers are determined by dividing the allowable resident related expenses by the actual resident days during the cost report period(s) used to establish the base cost data.

#### Facilities with more than 60 beds:

For facilities with more than 60 beds, the allowable historic per diem costs for the Direct Health Care cost center and for food and utilities in the Indirect Health Care cost center are determined by dividing the allowable resident related expenses by the actual resident days during the cost report period(s) used to establish the base cost data. The allowable historic per diem cost for the Operating and Indirect Health Care Cost Centers less food and utilities is subject to an 85% minimum occupancy rule. For these providers, the greater of the actual resident days for the cost report period(s) used to establish the base cost data or the 85% minimum occupancy based on the number of licensed bed days during the cost report period(s) used to establish the base cost data is used as the total resident days in the rate calculation for the Operating cost center and the Indirect Health Care cost center less food and utilities. All licensed beds are required to be certified to participate in the Medicaid program.

There are two exceptions to the 85% minimum occupancy rule for facilities with more than 60 beds. The first is that it does not apply to a provider who is allowed to file a projected cost report for an interim rate. Both the rates determined from the projected cost report and the historic cost report covering the projected cost report period are based on the actual resident days for the period.

The second exception is for the first cost report filed by a new provider who assumes the rate of the previous provider. If the 85% minimum occupancy rule was applied to the previous provider's rate, it is also applied when the rate is assigned to the new provider. However, when the new provider files a historic cost report for any part of the first 12 months of operation, the rate determined from the cost report will be based on actual days and not be subject to the 85% minimum occupancy rule for the months in the first year of operation. The 85% minimum occupancy rule is then reapplied to the rate when the new provider reports resident days and costs for the 13th month of operation and after.

## 5) Inflation Factors

Inflation will be applied to the allowable reported costs from the calendar year cost report(s) used to determine the base cost data from the midpoint of each cost report period to April 30, 2019. The inflation will be based on the IHS Global Insight, CMS Nursing Home without Capital Market Basket index.

The IHS Global Insight, CMS Nursing Home without Capital Market Basket Indices listed in the latest available quarterly publication will be used to determine the inflation tables for the payment schedules processed during the payment rate period. This may require the use of forecasted factors in the inflation table. The inflation tables will not be revised until the next payment rate period.

The inflation factor will not be applied to the following costs:

- 1) Owner/Related Party Compensation
- 2) Interest Expense
- 3) Real and Personal Property Taxes

#### 6) Upper Payment Limits

There are three types of upper payment limits that will be described. One is the owner/related party/administrator/co-administrator limit. The second is the real and personal property fee limit. The last type of limit is an upper payment limit for each cost center. The upper payment limits are in effect during the payment rate period unless otherwise specified by a State Plan amendment.

## Owner/Related Party/Administrator/Co-Administrator Limits:

Since salaries and other compensation of owners are not subject to the usual market constraints, specific limits are placed on the amounts reported. First, amounts paid to non-working owners and directors are not an allowable cost. Second, owners and related parties who perform resident related services are limited to a salary chart based on the Kansas Civil Service classifications and wages for comparable positions. Owners and related parties who provide resident related services on less than a full-time basis have their compensation limited by the percent of their total work time to a standard work week. A standard work week is defined as 40 hours. The owners and related parties must be professionally qualified to perform services which require licensure or certification.

The compensation paid to owners and related parties shall be allocated to the appropriate cost center for the type of service performed. Each cost center has an expense line for owner/related party compensation. There is also a cost report schedule titled, "Statement of Owners and Related Parties." This schedule requires information concerning the percent of ownership (if over five percent), the time spent in the function, the compensation, and a description of the work performed for each owner and/or related party. Any salaries reported in excess of the Kansas Civil Service based salary chart are transferred to the Operating cost center where the excess is subject to the Owner/Related Party/Administrator/ Co-Administrator per diem compensation limit.

Schedule C is an array of non-owner administrator and co-administrator salaries. The schedule includes the calendar year 2019 historic cost reports in the database from all active nursing facility providers. The salary information in the array is not adjusted for inflation. The per diem data is calculated using an 85% minimum occupancy level for those providers in operation for more than 12 months with more than 60 beds. Schedule C for the owner/related party/administrator/co-administrator per diem compensation limit is the first schedule run during the rate setting.

Schedule C is used to set the per diem limitation for all non-owner administrator and co-administrator salaries and owner/related party compensation in excess of the civil service-based salary limitation schedule. The per diem limit for a 50-bed or larger home is set at the 90th percentile on all salaries reported for non-owner administrators and co-administrators. A limitation table is then established for facilities with less than 50 beds. This table begins with a reasonable salary per diem for an administrator of a 15-bed or less facility. The per diem limit for a 15-bed or less facility is inflated based on the State of Kansas annual cost of living allowance for classified employees for the rate period. A linear relationship is then established between the compensation of the administrator of the 15-bed facility and the compensation of the administrator of a 50-bed facility. The linear relationship

determines the per diem limit for the facilities between 15 and 50 beds.

The per diem limits apply to the non-owner administrators and co-administrators and the compensation paid to owners and related parties who perform an administrative function or consultant type of service. The per diem limit also applies to the salaries in excess of the civil service-based salary chart in other cost centers that are transferred to the operating cost center.

## Real and Personal Property Fee Limit

The property component of the reimbursement methodology consists of the real and personal property fee that is explained in more detail in a later section. The upper payment limit is 105% of the median determined from a total resident day-weighted array of the property fees in effect April 1, 2020.

## Cost Center Upper Payment Limits

Schedule B is an array of all per diem costs for each of the three cost centers-Operating, Indirect Health Care, and Direct Health Care. The schedule includes a per diem determined from the base cost data from all active nursing facility providers. Projected cost reports are excluded when calculating the limit.

The per diem expenses for the Operating cost center and the Indirect Health Care cost center less food and utilities are subject to the 85% minimum occupancy for facilities over 60 beds. All previous desk review and field audit adjustments are considered in the per diem expense calculations. The costs are adjusted by the owner/related party/administrator/co-administrator limit.

Prior to the Schedule B arrays, the cost data on certain expense lines is adjusted from the midpoint of the cost report period to December 31, 2019. This will bring the costs reported by the providers to a common point in time for comparisons. The inflation will be based on the IHS Global Insight, CMS Nursing Home Without Capital Market Basket Index.

Certain costs are exempt from the inflation application when setting the upper payment limits. They include owner/related party compensation, interest expense, and real and personal property taxes.

Schedule B is the median compilations. These compilations are needed for setting the upper payment limit for each cost center. The median for each cost center is weighted based on total resident days. The upper payment limits will be set using the following:

Operating 110% of the median Indirect Health Care 115% of the median Direct Health Care 130% of the median

#### Direct Health Care Cost Center Limit:

The Kansas reimbursement methodology has a component for a case mix payment adjustment. The Direct Health Care cost center rate component and upper payment limit are adjusted by the facility average CMI.

For the purpose of setting the upper payment limit in the Direct Health Care cost center, the facility cost report period CMI and the statewide average CMI will be calculated. The facility cost report period CMI is the resident day-weighted average of the quarterly facility-wide

average case mix indices, carried to four decimal places. The quarters used in this average will be the quarters that most closely coincide with the financial and statistical reporting period. For example, a 01/01/20XX-12/31/20XX financial and statistical reporting period would use the facility-wide average case mix indices for quarters beginning 04/01/XX, 07/01/XX, 10/01/XX and 01/01/XY. The statewide average CMI is the resident day-weighted average, carried to four decimal places, of the facility cost report period case mix indices for all Medicaid facilities.

The statewide average CMI and facility cost report period CMI are used to set the upper payment limit for the Direct Health Care cost center. The limit is based on all facilities with a historic cost report in the database. There are three steps in establishing the base upper payment limit.

The first step is to normalize each facility's inflated Direct Health Care costs to the statewide average CMI. This is done by dividing the statewide average CMI for the cost report year by the facility's cost report period CMI, then multiplying this answer by the facility's inflated costs. This step is repeated for each cost report year for which data is included in the base cost data.

The second step is to determine per diem costs and array them to determine the median. The per diem cost is determined by dividing the total of each provider's inflated case mix adjusted base direct health care costs by the total days provided during the base cost data period. The median is located using a day-weighted methodology. That is, the median cost is the per diem cost for the facility in the array at which point the cumulative total of all resident days first equals or exceeds half the number of the total resident days for all providers. The facility with the median resident day in the array sets the median inflated direct health care cost. For example, if there are eight million resident days, the facility in the array with the 4 millionth day would set the median.

The final step in calculating the base Direct Health Care upper payment limit is to apply the percentage factor to the median cost. For example, if the median cost is \$80 and the upper payment limit is based on 130% of the median, then the upper payment limit for the statewide average CMI would be \$104 (**D=**130% x \$80).

#### 7) Quarterly Case Mix Rate Adjustment

The allowance for the Direct Health Care cost component will be based on the average Medicaid CMI in the facility. The first step in calculating the allowance is to determine the Allowable Direct Health Care Per Diem Cost. This is the lesser of the facility's per diem cost from the base cost data period or the Direct Health Care upper payment limit. Because the direct health care costs were previously adjusted for the statewide average CMI, the Allowable Direct Health Care Per Diem Cost corresponds to the statewide average CMI.

The next step is to determine the Medicaid acuity adjusted allowable Direct Health Care cost. The facility's Medicaid CMI is determined by averaging the facility average Medicaid CMI from the two quarters preceding the rate effective date. The facility's Medicaid CMI is then divided by the statewide average CMI for the cost data period. Finally, this result, is then multiplied by the Allowable Direct Health Care per diem cost. The result is referred to as the Medicaid Acuity Adjustment.

The Medicaid Acuity Adjustment is calculated semi-annually to account for changes in the Medicaid CMI. To illustrate this calculation, take the following situation: The facility's direct health care per diem cost is \$80.00, the Direct Health Care per diem limit is \$104.00, and these are both tied to a statewide average CMI of 1.000, and the facility's current Medicaid CMI is 0.9000. Since the per diem costs are less than the limit the Allowable Direct Heath Care Cost is \$80.00, and this is matched with the statewide average CMI of 1.0000. To calculate the Medicaid Acuity Adjustment, first divide the Medicaid CMI by the statewide average CMI, then multiply the result by the Allowable Direct Health Care Cost. In this case that would result in \$72.00 (0.9000/1.0000 x \$80.00). Because the facility's current Medicaid CMI is less than the statewide average CMI the Medicaid Acuity Adjustment moves the direct health care per diem down proportionally. In contrast, if the Medicaid CMI for the next semi-annual adjustment rose to 1.1000, the Medicaid Acuity Adjustment would be \$88.00 (1.1000/1.0000 x \$80.00). Again the Medicaid Acuity Adjustment changes the Allowable Direct Health Care Per Diem Cost to match the current Medicaid CMI.

### 8) Real and Personal Property Fee

The property component of the reimbursement methodology consists of the real and personal property fee (property fee). The property fee is paid in lieu of an allowable cost of mortgage interest, depreciation, lease expense and/or amortization of leasehold improvements. The fee is facility specific and does not change as a result of a change of ownership, change in lease, or with re-enrollment in the Medicaid program. The original property fee was comprised of two components, a property allowance and a property value factor. The differentiation of the fee into these components was eliminated effective July 1, 2002. At that time each facility's fee was re-established based on the sum of the property allowance and value factor. The providers receive the lower of the inflated property fee or the upper payment limit.

For providers re-enrolling in the Kansas Medical Assistance program or providers enrolling for the first time but operating in a facility that was previously enrolled in the program, the property fee shall be the sum of the last effective property allowance and the last effective value factor for that facility. The property fee will be inflated to 12/31/08 and then compared to the upper payment limit. The property fee will be the lower of the facility-specific inflated property fee or the upper payment limit.

Providers entering the Kansas Medical Assistance program for the first time, who are operating in a building for which a fee has not previously been established, shall have a property fee calculated from the ownership costs reported on the cost report. This fee shall include appropriate components for rent or lease expense, interest expense on real estate mortgage, amortization of leasehold improvements, and depreciation on buildings and equipment. The process for calculating the property fee for providers entering the Kansas Medical Assistance program for the first time is explained in greater detail in K.A.R. 129-10-25.

There is a provision for changing the property fee. This is for a rebasing when capital expenditure thresholds are

met (\$25,000 for homes under 51 beds and \$50,000 for homes over 50 beds). The original property fee remains constant but the additional factor for the rebasing is added. The property fee rebasing is explained in greater detail in K.A.R. 129-10-25. The rebased property fee is subject to the upper payment limit.

#### 9) Incentive Factors

An incentive factor will be awarded to both NF and NF-MH providers that meet certain outcome measures criteria. The criteria for NF and NF-MH providers will be determined separately based on arrays of outcome measures for each provider group.

Nursing Facility Quality and Efficiency Incentive Factor:

The Nursing Facility Incentive Factor is a per diem amount determined by four per diem add-ons providers can earn for various outcomes measures. Providers that maintain a case mix adjusted staffing ratio at or above the 75th percentile will earn a \$3.00 per diem add-on. Providers that fall below the 75th percentile staffing ratio but improve their staffing ratio by 10% or more will earn a \$0.50 per diem add-on. Providers that achieve a staff retention rate at or above the 75th percentile will earn a \$2.50 per diem add-on as long as contracted labor costs do not exceed 10% of the provider's total direct health care labor costs. Providers that have a staff retention rate lower than the 75th percentile but that increase their staff retention rate by 10% or more will receive a per diem add-on of \$0.50 as long as contracted labor costs do not exceed 10% of the provider's total direct health care labor costs. Providers that have a Medicaid occupancy percentage of 65% or more will receive a \$0.75 per diem addon. Finally, providers that maintain quality measures at or above the 75th percentile will earn a \$1.25 per diem add-on. The total of all the per diem add-ons a provider qualifies for will be their incentive factor.

The table below summarizes the incentive factor outcomes and per diem add-ons:

Incentive Outcome	Incentive Add-Ons
CMI adjusted staffing ratio ≥ 75th percentile (5.24), or CMI adjusted staffing < 75th percentile but improved ≥ 10%	\$3.00 \$0.50
Staff retention rate ≥ 75th percentile, 72% Contracted labor < 10% of total direct health care labor costs	\$2.50
or Staff retention rate < 75th percentile but increased ≥ 10% Contracted labor < 10% of total direct health care labor costs	\$2.50
Medicaid occupancy ≥ 65%	\$0.75
Quality Measures ≥ 75th percentile (640)	\$1.25
Total Incentive Add-on Available	\$7.50

The Culture Change/Person-Centered Care Incentive Program

The Culture Change/Person-Centered Care Incentive Program (PEAK 2.0) includes six different incentive levels to recognize homes that are either pursuing culture change, have made major achievements in the pursuit of culture change, have met minimum competencies in person-centered care, have sustained person-centered care, or are mentoring others in person-centered care.

Each incentive level has a specific pay-for-performance incentive per diem attached to it that homes can earn by meeting defined outcomes. The first three levels (Level 0 – Level 2) are intended to encourage quality improve-

ment for homes that have not yet met the minimum competency requirements for a person-centered care home. Homes can earn the Level 1 and Level 2 incentives simultaneously as they progress toward the minimum competency level.

Level 3 recognizes those homes that have attained a minimum level of core competency in person-centered care. Level 4 and Level 5 are reserved for those homes that have demonstrated sustained person-centered care for multiple years and have gone on to mentor other homes in their pursuit of person-centered care. The table below provides a brief overview of each of the levels.

Level & Per Diem Incentive	Summary of Required Nursing Home Action	Incentive Duration
Level 0 The Foundation \$0.50	Home completes the KCCI evaluation tool according to the application instructions. Home participates in all required activities noted in "The Foundation" timeline and workbook. Homes that do not complete the	Available beginning July 1 of enrollment year. Incentive granted for one full fiscal year.
<b>.</b>	requirements at this level must sit out of the program for one year before they are eligible for reapplication.	
Level 1 Pursuit of Culture Change \$0.50	Homes should submit the KCCI evaluation tool (annually). Home submits an action plan addressing 4 PEAK 2.0 cores in Domains 1-4. The home self-reports progress on the action planned cores via phone conference with the PEAK team. The home may be selected for a random site visit. The home must participate in the random site visit, if selected, to continue incentive payment. Homes should demonstrate successful completion of 75% of core competencies selected. A home can apply for Levels 1 & 2 in the same year. Homes that do not achieve Level 2 with three consecutive years of participation at Level 1 may return to a Level 0 or sit out for two years depending on KDADS and KSU's recommendation.	Available beginning July 1 of enrollment year. Incentive granted for one full fiscal year.
Level 2 Culture Change Achievement	This is a bridge level to acknowledge achievement in Level 1. Homes may receive this level at the same time they are working on other PEAK core areas at Level 1. Homes may receive this incentive for up to 3 years. If Level 3 is not achieved at the end of the third year, homes	Available beginning July 1 following confirmed completion of action plan goals. Incentive is granted for one full fiscal year.
\$1.00	may start back at Level 0 or 1 depending on KDADS and KSU's recommendation.	

Incentive

Level & Per	Summary of Required	Incentive Duration
Diem Incentive	Nursing Home Action	
Level 3 Person- Centered Care	Demonstrates minimum competency as a person-centered care home (see KDADS full criteria). This is confirmed through a combination of the following: High score on the KCCI evaluation tool.	Available beginning July 1 following confirmed minimum competency as a person-centered care home.
\$2.00	Demonstration of success in other levels of the program. Performing successfully on a Level 2 screening call with the KSU PEAK 2.0 team. Passing a full site visit.	Incentive is granted for one full fiscal year. Renewable bi-annually.
Level 4 Sustained Person- Centered Care Home \$2.50	Homes earn person- centered care home award two consecutive years.	Available beginning July 1 following confirmation of the upkeep of minimum person- centered care competencies. Incentive is granted for two fiscal years. Renewable bi-annually.
Level 5 Person- Centered Care Mentor Home \$3.00	Homes earn sustained person-centered care home award and successfully engage in mentoring activities suggested by KDADS (see KDADS mentoring activities). Mentoring activities should be documented.	Available beginning July 1 following confirmation of mentor home standards. Incentive is granted for two fiscal years. Renewable bi- annually.

## Nursing Facility for Mental Health Quality and Efficiency Incentive Factor:

The Quality and Efficiency Incentive plan for Nursing Facilities for Mental Health (NFMH) will be established separately from nursing facilities. Nursing Facilities for Mental Health serve people who often do not need the NF level of care on a long-term basis. There is a desire to provide incentive for NFMHs to work cooperatively and in coordination with Community Mental Health Centers to facilitate the return of persons to the community.

The Quality and Efficiency Incentive Factor is a per diem add-on ranging from zero to seven dollars and fifty cents. It is designed to encourage quality care, efficiency and cooperation with discharge planning. The incentive factor is determined by five outcome measures: case-mix adjusted nurse staffing ratio; operating expense; staff turnover rate; staff retention rate; and occupancy rate. Each provider is awarded points based on their outcomes measures and the total points for each provider determine the per diem incentive factor included in the provider's rate calculation.

Providers may earn up to two incentive points for their case mix adjusted nurse staffing ratio. They will receive two points if their case-mix adjusted staffing ratio equals or exceeds 3.64, which is 120% of the statewide NFMH median of 3.03. They will receive one point if the ratio is less than 120% of the NFMH median but greater than or equal to 3.33, which is 110% of the statewide NFMH median. Providers with staffing ratios below 110% of the NFMH median will receive no points for this incentive measure.

NFMH providers may earn one point for low occupancy outcomes measures. If they have total occupancy less than 90% they will earn a point.

NFMH providers may earn one point for low operating expense outcomes measures. The provider will earn one point if the per diem operating expenses are below \$27.88, or 90% of the statewide median of \$30.98.

NFMH providers may earn up to two points for the turnover rate outcomes measure. Providers with direct health care staff turnover equal to or below 37%, the 75th percentile statewide, will earn two points as long as contracted labor costs do not exceed 10% of the provider's total direct health care labor costs. Providers with direct health care staff turnover greater than 37% but equal to or below 67%, the 50th percentile statewide, will earn one point as long as contracted labor costs do not exceed 10% of the provider's total direct health care labor costs.

Finally, NFMH providers may earn up to two points for the retention rate outcomes measure. Providers with staff retention rates at or above 64%, the 75th percentile statewide will earn two points. Providers with staff retention rates below 64% but at or above 48%, the 50th percentile statewide, will earn one point.

The table below summarizes the incentive factor outcomes and points:

Quality/Efficiency Outcome	Points
CMI adjusted staffing ratio ≥ 120% (3.64) of NF-MH median	
(3.03), or	2, or
CMI adjusted staffing ratio between 110% (3.33) and 120%	1
Total occupancy ≤ 90%	1
Operating expenses < \$27.88, 90% of NF-MH median, \$30.98	1
Staff turnover rate ≤ 75th percentile, 37%	2, or
Staff turnover rate ≤ 50th percentile, 67%	1
Contracted labor < 10% of total direct health care labor costs	
Staff retention ≥ 75th percentile, 64%	2, or
Staff retention ≥ 50th percentile, 48%	1
Total Incentive Points Available	8

Schedule E is an array containing the incentive points awarded to each NFMH provider for each quality and efficiency incentive outcome. The total of these points will be used to determine each provider's incentive factor based on the following table.

Total Incentive Points:	Incentive Factor Per Diem:
Tier 1: 6-8 points	\$7.50
Tier 2: 5 points	\$5.00
Tier 3: 4 points	\$2.50
Tier 4: 0-3 points	\$0.00

The survey and certification performance of each NF and NFMH provider will be reviewed quarterly to determine each provider's eligibility for incentive factor payments. In order to qualify for an incentive, factor a home must not have received any health care survey deficiency of scope and severity level "H" or higher during the survey review period. Homes that receive "G" level deficiencies, but no "H" level or higher deficiencies, and that correct the "G" level deficiencies within 30 days of the survey, will be eligible to receive 50% of the calculated incentive factor. Homes that receive no deficiencies higher than scope and severity level "F" will be eligible to receive 100% of the calculated incentive factor. The survey and certification review period will be the 12-month

period ending one quarter prior to the incentive eligibility review date. The following table lists the incentive eligibility review dates and corresponding review period end dates.

Incentive Eligibility Effective Date:	<b>Review Period End Date:</b>
July 1	March 31st
October 1	June 30th
January 1	September 30th
April 1	December 31st

#### 10) Rate Effective Date

Rate effective dates are determined in accordance with K.A.R. 129-10-19. The rate may be revised for an add-on reimbursement factor (i.e., rebased property fee), desk review adjustment or field audit adjustment.

## 11) Retroactive Rate Adjustments

Retroactive adjustments, as in a retrospective system, are made for the following three conditions:

A retroactive rate adjustment and direct cash settlement is made if the agency determines that the base year cost report data used to determine the prospective payment rate was in error. The prospective payment rate period is adjusted for the corrections.

If a projected cost report is approved to determine an interim rate, a settlement is also made after a historic cost report is filed for the same period.

All settlements are subject to upper payment limits. A provider is considered to be in projection status if they are operating on a projected rate and they are subject to the retroactive rate adjustment.

## II. Medicaid Per Diem Rates for Kansas Nursing Facilities

**A.** Cost Center Limitations: The state establishes the following cost center limitations which are used in setting rates effective July 1, 2019.

Cost Center	Limit Formula	Per Day Limit
Operating	110% of the Median Cost	\$40.29
Indirect Health Care	115% of the Median Cost	\$54.89
Direct Health Care	130% of the Median Cost	\$132.73
Real and Personal Property Fee	105% of the Median Fee	\$10.01

These amounts were determined according to the "Reimbursement Limitations" section. The Direct Healthcare Limit is calculated based on a CMI of 1.0419, which is the statewide average.

- **B.** Case Mix Index: These proposed rates are based upon each nursing facility's Medicaid CMI calculated as the average of the quarterly Medicaid CMI averages with a cutoff dates of January 1, 2020 and April 1, 2020. The CMI calculations use the July 1, 2014 Kansas Medicaid/Medikan CMI Table. In Section II.C below, each nursing facility's Medicaid average CMI is listed beside its per diem rate.
- **C. Rates:** The following list includes the calculated Medicaid rate for each nursing facility provider currently enrolled in the Medicaid program and the Medicaid case mix index used to determine each rate.

Facility Name	City	Daily I Rate	Medicaid CMI
Village Manor	Abilene	210.22	0.9362
Alma Manor	Alma	174.12	0.8958
Life Care Center of Andover	Andover	165.70	1.0778

T. W. M.	C'I		Medicaid
Facility Name	City	Rate	CMI
Victoria Falls SNF Anthony Community	Andover	179.29	0.9726
Care Center Arkansas City	Anthony	174.51	0.9695
Presbyterian Manor Medicalodges Health	Arkansas City	191.32	0.9528
Care Ctr Arkansas	Arkansas City	177.98	0.9683
Arma Operator, LLC	Arma	175.67	1.2625
Atchison Senior Village	Atchison	230.25	1.0004
Dooley Center	Atchison	215.21	0.7618
Medicalodges Atchison	Atchison	215.98	1.0618
Attica Long Term Care	Attica	207.80	0.8946
Good Samaritan Society-Atwood	Atwood	215.05	1.0459
Lake Point Nursing Center	Augusta	175.52	0.9679
Baldwin Healthcare	n.11 4 60		
& Rehab Center	Baldwin City	206.69	1.2818
Quaker Hill Manor	Baxter Springs	183.78	1.0025
Catholic Care Center, Inc.	Bel Aire	227.78	1.0587
Belleville Healthcare Center	Belleville	175.51	1.0852
Hilltop Lodge Health and Rehab		196.70	1.0344
Mitchell County Hospital LTCU Bonner Springs Nursing	Beloit	218.67	0.9316
& Rehab Ctr	Bonner Springs	177.02	1.0529
Hill Top House	Bucklin	210.58	0.8903
Buhler Sunshine Home, Inc.	Buhler	212.71	0.8533
Life Care Center of Burlington	Burlington	158.46	1.0572
Eastridge Nursing Home	Centralia	239.49	1.0242
Diversicare of Chanute	Chanute	183.52	1.2698
Heritage Health Care Center	Chanute	180.47	1.0654
Chapman Valley Manor	Chapman	173.18	0.8274
Cheney Golden Age Home, Inc.	Cheney	192.47	1.0135
Cherryvale Care Center	Cherryvale	162.55	0.9159
Chetopa Manor	Chetopa	174.98	0.8567
The Shepherd's Center	Cimarron	209.68	0.8937
Clay Center Presbyterian Manor Medicalodges Clay Center	Clay Center Clay Center	189.46 223.11	0.8823 1.0774
Clearwater Nursing and Rehab	Clearwater	168.96	0.9582
Park Villa Nursing Home	Clyde	180.76	1.0413
Medicalodges Coffeyville	Coffeyville	215.75	1.0331
Windsor Place	Coffeyville	201.89	1.1385
Windsor Place at Iola, LLC	Coffevville	183.13	0.9380
Colby Operator, LLC	Colby	190.25	1.1703
Prairie Senior Living Complex	Colby	224.54	0.8723
Pioneer Lodge	Coldwater	172.47	0.7717
Medicalodges Columbus	Columbus	209.42	1.1287
Mt Joseph Senior Village, LLC	Concordia	180.10	0.9641
Sunset Home, Inc.	Concordia	183.77	0.9371
Spring View Manor	Conway Springs	185.34	0.9065
Chase County Operator, LLC	Cottonwood Falls	222.30	1.0925
Diversicare of Council Grove	Council Grove	170.04	1.0688
Hilltop Manor Nursing Center	Cunningham	179.44	1.0170
Derby Health and Rehabilitation	•	212.09	1.0718
Westview of Derby	Derby	155.84	1.0420
Hillside Village	DeSoto	188.78	0.9580
Manor of the Plains	Dodge City	226.69	1.0681
Sunporch of Dodge City	Dodge City	193.93	0.9259
Trinity Manor	Dodge City	192.77	1.0678
Downs Operator, LLC	Downs	212.13	1.3444
Country Care Home	Easton	171.38	0.9799
Edwardsville Operator, LLC	Edwardsville	177.45	0.7950
Kaw River Operator, LLC	Edwardsville Edwardsville	232.34 194.46	1.2310 1.1595
Parkway Operator, LLC El Dorado Operator, LLC	El Dorado	219.78	1.1393
LI DOI auto Operator, LLC	Li Dorauo		ontinued)
		, 0	

Vol. 39, No. 26, June 25, 2020

		D. "I	N. 11 11			D. "	N. 6 11 1 1
Facility Name	City	Rate	Medicaid CMI	Facility Name	City	Rate	Medicaid CMI
Lakepoint Nursing				Montgomery Place			
Center-El Dorado	El Dorado	184.71	0.9961	Nursing Center, LLC	Independence	187.23	1.1303
Morton Co Senior				Pleasant View Home	Inman	207.50	0.9348
Living Community	Elkhart	200.45	1.0773	Stanton County Hospital-LTCU	Johnson	214.98	0.8862
Good Samaritan Society-Ellis	Ellis	181.81	0.9337	Valley View Senior Life	Junction City	195.48	0.9752
Azria Health Woodhaven	Elliwood	207.62	1.1595	Golden Oaks Healthcare, Inc.	Kansas City	240.90	1.3043
Good Sam Society-	Ellanosada	100.20	1 1424	Ignite Medical Resort	Kansas City	233.56	1.2004
Ellsworth Village Emporia Presbyterian Manor	Ellsworth Emporia	190.30 224.37	1.1434 1.1601	Lifecare Center of Kansas City	Kansas City	181.03	0.9714
Flint Hills Care and	Епіропа	224.37	1.1001	Medicalodges Post	I/ C'I	100.60	0.0742
Rehab Center	Emporia	190.30	1.0986	Acute Care Center	Kansas City	190.60	0.9743 0.9604
Holiday Resort	Emporia	173.12	1.0462	Providence Place LTCU Riverbend Post Acute	Kansas City	232.61	0.9604
Enterprise Estates	1			Rehabilitation	Kansas City	209.10	1.1986
Nursing Center, Inc.	Enterprise	171.07	1.0389	The Wheatlands	Kingman	190.19	1.0341
Eskridge Operator, LLC	Eskridge	168.28	0.8566	Medicalodges Kinsley	Kinsley	218.41	1.0391
Medicalodges Eudora	Eudora	179.75	1.0118	Kiowa District Manor	Kiowa	214.44	0.8954
Eureka Nursing Center	Eureka	176.88	1.0278	Locust Grove Village	Lacrosse	196.39	0.9074
Kansas Soldiers' Home	Fort Dodge	214.02	0.9211	High Plains Retirement Village	Lakin	222.82	0.9180
Medicalodges Fort Scott	Fort Scott	186.81	0.9972	Lansing Operator, LLC	Lansing	207.26	1.1395
Fowler Residential Care	Fowler	229.38	0.9264	Twin Oaks Health & Rehab	Lansing	197.76	1.0443
Frankfort Community	E 16 (	101.76	0.0000	Diversicare of Larned	Larned	157.59	1.0850
Care Home, Inc.	Frankfort	191.76	0.9098	Brandon Woods at Alvamar	Lawrence	199.92	0.9063
Medicalodges Frontenac	Frontenac Galena	187.15	1.0160	Lawrence Presbyterian Manor	Lawrence	214.76	0.9515
Galena Nursing Home Garden Valley Retirement	Galena	191.10	1.1664	Pioneer Ridge Retirement			
Village	Garden City	190.00	1.2256	Community	Lawrence	204.01	0.9997
Ranch House Senior Living	Garden City	200.23	0.9520	Medicalodges Leavenworth	Leavenworth	202.27	0.9989
Medicalodges Gardner	Gardner	193.72	0.9457	The Healthcare Resort of Leawood	Lagranad	242 12	1.2185
Recover Care Meadowbrook				Delmar Gardens of Lenexa	Leawood Lenexa	243.13 174.16	1.0221
Rehab, LLC	Gardner	261.79	1.2048	Lakeview Village	Lenexa	244.56	1.0221
Anderson County Hospital	Garnett	233.86	0.9583	Westchester Village of Lenexa	Lenexa	236.45	1.0262
Parkview Heights	Garnett	216.85	1.0033	Leonardville Nursing Home	Leonardville	176.79	0.9222
Medicalodges Girard	Girard	195.63	1.0076	Wichita County Health Center	Leoti	228.79	0.9725
The Nicol Home, Inc.	Glasco	182.71	0.9319	Good Samaritan Society-Liberal	Liberal	181.97	0.9739
Medicalodges Goddard	Goddard	209.76	1.0586	Wheatridge Park Care Center	Liberal	198.00	1.1907
Bethesda Home	Goessel	221.60	0.9823	Lincoln Park Manor, Inc.	Lincoln	207.79	0.9251
Topside Manor, Inc.	Goodland	194.69	0.9620	Bethany Home Association	Lindsborg	232.43	1.0563
Great Bend Health and Rehab Center	Great Bend	193.99	1.1079	Linn Community Nursing Home		177.32	1.0042
Medicalodges Great Bend	Great Bend	178.65	0.9143	Sandstone Heights			
Halstead Health and	Great Deriu	170.03	0.9143	Nursing Home	Little River	244.68	1.0505
Rehab Center	Halstead	212.15	1.0734	Logan Manor Community	<b>.</b>	400 (=	4 0004
Haviland Operator, LLC	Haviland	147.00	0.6755	Health Service	Logan	183.65	1.0031
Good Samaritan Society-Hays	Hays	200.38	1.0555	Louisburg Healthcare and Rehab Center	Louisburg	205.89	1.1991
Via Christi Village-Hays	Hays	187.14	0.9344	Good Samaritan Society-Lyons	Lyons	189.13	0.8991
Diversicare of Haysville	Haysville	170.50	1.2214	Meadowlark Hills	Lyons	107.15	0.0771
Legacy at Herington	Herington	175.33	0.9787	Retirement Community	Manhattan	236.33	1.0114
Schowalter Villa	Hesston	235.56	1.0039	Stoneybrook Retirement			
Maple Heights of Hiawatha	Hiawatha	163.39	0.9850	Community	Manhattan	181.73	1.0130
Highland Healthcare				Via Christi Village			
and Rehab Center	Highland	189.27	1.1843	Manhattan, Inc.	Manhattan	201.61	1.0034
Dawson Place, Inc.	Hill City	171.64	0.9474	St. Luke Living Center	Marion	203.89	1.0166
Parkside Homes, Inc.	Hillsboro	202.62		Riverview Estates, Inc.	Marquette	179.64	0.7933
Salem Home	Hillsboro	201.72	1.0196	Cambridge Place	Marysville	175.99	0.9994
Medicalodges Jackson County	Holton	197.85	1.0385	McPherson Operator, LLC	McPherson	176.97	1.1258
Mission Village Living Center	Horton	147.09	0.8864	The Cedars, Inc.	McPherson Mondo	210.25	0.9503
Sheridan County Hospital	Hoxie	226.51	0.9382	Meade District Hospital, LTCU	Meade	221.12	0.8745
Pioneer Manor	Hugoton	220.48	0.8632	Merriam Gardens Healthcare & Rehab	Merriam	237.76	1.2193
Diversicare of Hutchinson Good Sam Society-	Hutchinson	186.39	1.1415	Great Plains of Ottawa		_3,.,0	11/0
Hutchinson Village	Hutchinson	212.27	0.9190	County, Inc.	Minneapolis	226.37	0.8900
Hutchinson Operator, LLC	Hutchinson	185.00	1.2177	Minneapolis Health	1		
Wesley Towers	Hutchinson	223.66	0.8910	and Rehabilitation	Minneapolis	200.34	1.0419
Medicalodges Independence	Independence	196.61	1.0314	Minneola District Hospital-LTCU		216.74	0.8547
	-			Bethel Home, Inc.	Montezuma	194.27	0.9114

		Daily	Medicaid			Daily	Medicaid
Facility Name	City	Rate	CMI	Facility Name	City	Rate	CMI
Moran Manor	Moran	169.75	1.0269	Medicalodges Pittsburg South	Pittsburg	188.95	1.0252
Moundridge Manor, Inc.	Moundridge	207.33	0.8664	Via Christi Village Pittsburg, Inc.	Pittsburg	213.23	1.1417
Pine Village	Moundridge	216.86	1.0415	Rooks County Senior	DI : 'II	107.40	1.0110
Mt. Hope Nursing Center	Mt. Hope	188.29	0.9912	Services, Inc.	Plainville	197.40	1.0110
Villa Maria, Inc.	Mulvane	216.25	1.1079	Brighton Gardens of Prairie Village	Prairie Village	213.25	1.0167
Neodesha Operator, LLC	Neodesha	197.34	1.2141	Pratt Operator, LLC	Pratt	161.66	1.2281
Ness County Hospital Dist.#2 Asbury Park	Ness City Newton	222.75 211.12	0.9286 0.8801	Pratt Regional Medical Center	Pratt	231.06	1.0260
Kansas Christian Home	Newton	219.09	1.0310	Prairie Sunset Manor	Pretty Prairie	220.90	1.4770
Newton Presbyterian Manor	Newton	216.68	0.9704	Protection Valley Manor	Protection	152.71	0.7565
Bethel Care Center	North Newton	232.87	0.9853	Gove County Medical Center	Quinter	229.09	0.9263
Andbe Home, Inc.	Norton	195.66	0.9949	Grisell Memorial Hosp	D.	22402	0.0040
Village Villa	Nortonville	178.99	1.0982	Dist #1-LTCU	Ransom	224.93	0.9049
Logan County Manor	Oakley	228.44	0.9280	Richmond Healthcare and Rehab Center	Richmond	199.21	1.2285
Good Samaritan Society-	01 11	400 50	0.07/0	Fountainview Nursing	Tuermiona	1,,,,_1	1.2200
Decatur Co.	Oberlin	199.73	0.8762	and Rehab Center	Rose Hill	195.12	1.1610
Aberdeen Village, Inc.	Olathe	260.66	1.1468	Rossville Healthcare			
Azria Health at Olathe Evergreen Community	Olathe	231.35	1.1667	and Rehab Center	Rossville	203.43	1.2854
of Johnson Count	Olathe	236.62	0.9960	Russell Regional Hospital	Russell	222.91	0.8627
Good Samaritan Society-Olathe	Olathe	221.67	0.9483	Wheatland Nursing	Duggall	167 54	1.0016
Nottingham Health & Rehab	Olathe	240.06	1.1681	& Rehab Center Apostolic Christian Home	Russell Sabetha	167.54 182.02	0.9466
Pinnacle Ridge Nursing				Sabetha Nursing Center	Sabetha	177.89	1.1146
and Rehabilitation	Olathe	199.49	1.1356	Holiday Resort of Salina	Salina	188.93	1.0086
The Healthcare Resort of Olathe	Olathe	232.65	1.2537	Kenwood View Health	Sumu	100.70	1.0000
Villa St. Francis	01 11	210.40	1.0524	and Rehab Center	Salina	184.56	1.3439
Catholic Care Ctr.	Olathe	219.48	1.0534 1.3813	Pinnacle Park Nursing			
Onaga Operator, LLC Osage Nursing & Rehab Center	Onaga Osage City	176.18 167.80	1.0076	and Rehabilitation	Salina	169.22	1.1258
Life Care Center of Osawatomie	0 ,	191.79	1.2249	Salina Presbyterian Manor	Salina	181.78	0.9105
Parkview Care Center	Osborne	159.20	0.9129	Salina Windsor SNF OPCO, LLC		169.99	1.0224
Hickory Pointe Care & Rehab Ct		207.51	0.9334	Smoky Hill Rehabilitation Center		148.92	0.9565 0.8750
Oswego Operator, LLC	Oswego	197.41	1.3013	Satanta Dist. Hosp. LTCU Park Lane Nursing Home	Satanta Scott City	215.58 216.43	0.8730
Rock Creek of Ottawa	Ottawa	203.55	1.2551	Pleasant Valley Manor	Sedan	167.78	0.9637
Brookside Manor	Overbrook	173.84	1.0906	Diversicare of Sedgwick	Sedgwick	193.38	1.2237
Colonial Village	Overland Park	236.34	1.0443	Crestview Nursing &	ocug, view	170.00	1.2207
Delmar Gardens of				Residential Living	Seneca	161.49	0.9022
Overland Park	Overland Park	206.05	1.0013	Life Care Center of Seneca	Seneca	152.34	1.1359
Garden Terrace at Overland Park		181.71	1.1822	Wallace County	a		
Indian Creek Health and Rehab KPC Promise Hospital	Overland Park	197.35	1.1159	Community Center	Sharon Springs		1.0727
of Overland Park	Overland Park	248.57	1.5394	Brookdale Rosehill Sharon Lane Health	Shawnee	260.27	1.1112
Overland Park Center				and Rehabilitation	Shawnee	190.27	1.0218
for Rehab & HC	Overland Park	261.21	1.2883	Shawnee Gardens	Shavinee	1,0.2,	1.0210
Overland Park Nursing & Rehab	Overland Park	228.56	1.0930	Healthcare and Rehab	Shawnee	187.03	1.3416
Shawnee Post Acute	0 1 10 1	241.20	1.007/	Smith Center Operator, LLC	Smith Center	172.91	1.2101
Rehab Center	Overland Park	241.28	1.2376	Sunporch of Smith County	Smith Center	215.35	0.9171
Stratford Commons Rehab & HCC	Overland Park	260.27	1.1974	Mennonite Friendship	C 11 II 1 1 1 1	221 07	0.0007
Tallgrass Creek, Inc.	Overland Park	298.00	1.4950	Manor, Inc.	South Hutchinson		0.9896
Villa Saint Joseph	Overland Park	228.48	1.0147	Spring Hill Operator, LLC Cheyenne County Village, Inc.	Spring Hill St. Francis	210.49 235.68	1.1480 0.9679
Village Shalom, Inc.	Overland Park	239.96	1.0312	Leisure Homestead at St. John	St. John	181.56	0.8944
ML-OP Oxford, LLC	Oxford	177.57	0.8912	Community Hospital	St. John	101.50	0.0711
Medicalodges Paola	Paola	139.88	0.7470	of Onaga, LTCU	St. Mary's	206.98	0.9141
North Point Skilled				Prairie Mission	,		
Nursing Center	Paola	194.54	1.0944	Retirement Village	St. Paul	161.32	1.0068
Elmhaven East	Parsons	177.48	1.0258	Leisure Homestead at Stafford	Stafford	180.77	1.0026
Good Samaritan Society-Parsons		182.95	0.9045	Sterling Village	Sterling	227.45	0.8831
Parsons Presbyterian Manor	Parsons	218.32	1.0221 0.6933	Solomon Valley Manor	Stockton	195.30	1.0015
Access Mental Health Peabody Operator, LLC	Peabody Peabody	154.42 154.53	1.0650	Legend Healthcare	Tonganoxie	183.17	1.1109
Phillips County	1 cabouy	154.55	1.0050	Aldersgate Village	Topeka	225.08	1.0010
Retirement Center	Phillipsburg	182.64	0.8948	Brewster Health Center Brighton Place North	Topeka Topeka	227.37 117.00	0.8769 0.7343
Pittsburg Operator, LLC	Pittaburg	197.71	1.0653	Difficon Frace Morni	торска	117.00	0.7343
	_					(c	ontinued)

		Daily	Medicaid
Facility Name	City	Rate	CMI
Brighton Place West	Topeka	140.97	0.9663
Countryside Health Center	Topeka	107.93	0.7182
Legacy on 10th Ave.	Topeka	186.18	1.1424
Lexington Park Nursing and Post Acute	Topeka	223.34	0.9458
McCrite Plaza Health Center	Topeka	210.94	0.9084
Providence Living Center	Topeka	139.34	0.8834
Recover-Care Plaza	•		
West Care Center	Topeka	235.71	1.2169
Rolling Hills Health Center	Topeka	195.89	1.0282
Tanglewood Nursing and Rehabilitation	Topeka	165.21	1.1049
Top City Healthcare, Inc.	Topeka	218.21	1.1950
Topeka Center for Rehab	•		
and Healthcare	Topeka	245.29	1.3675
Topeka Presbyterian Manor Inc.	Topeka	241.12	1.0846
Greeley County Hospital, LTCU Western Prairie Senior Living	Tribune Ulysses	225.19 206.70	0.9558 0.9488
Valley Health Care Center	Valley Falls	158.04	0.6373
Trego Co. Lemke	variey rans	100.01	0.0070
Memorial LTCU	Wakeeney	224.79	0.9305
Wakefield Operator, LLC	Wakefield	227.00	1.2379
Good Samaritan Society-	T17	207.51	0.0400
Valley Vista The Centennial Homestead, Inc.	Washington	207.51 182.86	0.9432 0.8616
Wathena Healthcare	Washington	102.00	0.0010
and Rehab Center	Wathena	204.96	1.2517
Coffey County Hospital	Waverly	214.58	0.9666
Sumner Operator, LLC	Wellington	179.57	1.1212
Wellington Operator, LLC	Wellington	182.43	1.0899
Wellsville Manor	Wellsville	165.13	1.1347
Westy Community Care Home Wheat State Manor	Westmoreland Whitewater	170.64 184.51	0.8858 0.8647
Avita Health & Rehab	wintewater	104.31	0.0047
of Reeds Cove	Wichita	205.81	1.0849
Caritas Center	Wichita	217.27	0.8053
Family Health &	X171 1 1.	207.24	4 00=4
Rehabilitation Center	Wichita Wichita	207.34	1.0954
Healthcare Resort of Wichita Homestead Health Center, Inc.	Wichita	241.14 217.59	1.0539 0.8949
Kansas Masonic Home	Wichita	217.34	1.0623
Lakepoint Wichita, LLC	Wichita	178.95	1.0443
Legacy at College Hill	Wichita	161.96	1.0074
Life Care Center of Wichita	Wichita	188.08	1.1135
Medicalodges Wichita	Wichita	201.61	1.0186
Meridian Rehab and Health Care Center	Wichita	140.94	0.9744
Mount St Mary	Wichita	233.15	1.0067
Orchard Gardens, LLC	Wichita	168.81	1.0007
Regent Park Rehab			
and Healthcare	Wichita	229.94	1.0710
Sandpiper Healthcare	TA7: 1:1	170.01	1 2702
and Rehab Center Seville Operator, LLC	Wichita Wichita	178.81 190.69	1.3703 1.2501
The Health Care Center@	vvicinta	190.09	1.2501
Larksfield Place	Wichita	207.21	0.9150
Via Christi Village McLean, Inc.	Wichita	222.55	1.2733
Via Christi Village Ridge	Wichita	219.92	1.0364
Wichita Center for Rehab and Healthcare	Wichita	229 47	1 2207
Wichita Operator, LLC	Wichita Wichita	228.47 224.57	1.3207 1.1956
Wichita Presbyterian Manor	Wichita	215.69	0.9825
Wilson Operator, LLC	Wilson	227.77	1.4438
F W Huston Medical Center	Winchester	155.00	0.8588
Cumbernauld Village, Inc.	Winfield	217.47	0.9207

Facility Name	City	Daily 1 Rate	Medicaid CMI
racinty rame	City	Rate	CIVII
Kansas Veterans' Home	Winfield	211.33	0.9425
Winfield Rest Haven II, LLC	Winfield	226.07	0.9568
Winfield Senior Living			
Community	Winfield	200.62	1.1041
Yates Operator, LLC	Yates Center	181.37	1.3699

#### III. Justifications for the Rates

- 1. The proposed rates are calculated according to the rate-setting methodology in the Kansas Medicaid State Plan and pending amendments thereto.
- The proposed rates are calculated according to a methodology which satisfies the requirements of K.S.A. 39-708c(x) and the DHCF regulations in K.A.R. Article 129-10 implementing that statute and applicable federal law.
- 3. The State's analyses project that the rates:
  - a. Would result in payment, in the aggregate of 94.44% of the Medicaid day weighted average inflated allowable nursing facility costs statewide; and
  - b. Would result in a maximum allowable rate of \$237.92 (for a CMI of 1.0419); with the total average allowable cost being \$196.39.
  - c. Average Payment rate July 1, 2020 \$196.39
  - d. Average payment rate July 1, 2019 \$192.00 Amount of change \$4.39 Percent of change 2.28%
- 4. Estimated annual aggregate expenditures in the Medicaid nursing facility services payment program will increase approximately \$2.9 million.
- 5. The state estimates that the rates will continue to make quality care and services available under the Medicaid State Plan at least to the extent that care and services are available to the general population in the geographic area. The state's analyses indicate:
  - a. Service providers operating a total of 320 nursing facilities and hospital-based long-term care units (representing 96.1% of all the licensed nursing facilities and long-term care units in Kansas) participate in the Medicaid program;
  - b. There is at least one Medicaid-certified nursing facility and/or nursing facility for mental health, or Medicaid-certified hospital-based long-term care unit in 99 of the 105 counties in Kansas;
  - The statewide average occupancy rate for nursing facilities participating in Medicaid is 81.89%;
  - d. The statewide average Medicaid occupancy rate for participating facilities is 58.69%; and
  - e. The rates would cover 95.72% of the estimated Medicaid direct health care costs incurred by participating nursing facilities statewide.
- 6. Federal Medicaid regulations at 42 C.F.R. 447.272 impose an aggregate upper payment limit that states may pay for Medicaid nursing facility services. The state's analysis indicates that the methodology will result in compliance with the federal regulation.

## IV. Response to Comments Received

The state did not receive formal comments to its Proposed Nursing Facility rates published on May 21, 2020 in the Kansas Register.

## V. Notice of Intent to Amend the Medicaid State Plan

The state intends to submit Medicaid State Plan amendments to CMS on or before September 30, 2020.

Laura Howard Secretary KDADS

Christiane Swartz Interim Medicaid Director Director, Medicaid Operations KDHE-DHCF

Doc. No. 048244

#### State of Kansas

## Department of Health and Environment Division of Health Care Finance

#### **Public Notice**

The Kansas Department of Health and Environment, Division of Health Care Finance (KDHE-DHCF) is amending the Kansas Medicaid State Plan to increase the rate for cytogenic microarray (CMA) testing. This test is considered a standard of care when a diagnosis of Global Developmental Delay (GDD) is suspected and supported by clinical examination.

The proposed effective date for the state plan amendment (SPA) is July 1, 2020.

For a copy of the proposed SPA please contact William C. Stelzner at william.stelzner@ks.gov. The last day for public comment is July 27, 2020.

Draft copies of the proposed SPA may also be found at a Local Health Department (LHD).

Christiane Swartz Interim Medicaid Director Director, Medicaid Operations

Doc. No. 048234

#### State of Kansas

## Office of the Governor

## Executive Directive No. 20-519 Authorizing Expenditure of Federal Funds

By virtue of the authority vested in the Governor as the head of the Executive Branch of the State of Kansas, the following transactions are hereby authorized:

Pursuant to the authority of the President of the Board of Regents to receive and expend federal funds, and pursuant to the authority granted the Governor by Chapter 68, Section 189 of *The 2019 Session Laws of Kansas* and by Section 179 of 2020 SB 66, approval is hereby granted to the Board of Regents and each state university for expenditure in FY 2020 and FY 2021 in the federal fund "Governor's Emergency Education Relief Fund—Federal Fund."

I have conferred with the Director of the Budget and members of my staff, and I have determined that the guidelines set forth in KSA 75-3711 and 75-3711c have been applied and that none of the foregoing actions exceeds the limitations contained therein.

Dated June 17, 2020.

Laura Kelly Governor

Doc. No. 048241

### **State of Kansas**

## **Secretary of State**

## **Executive Appointments**

Executive appointments made by the governor, and in some cases by other state officials, are filed with the secretary of state's office. The following appointments were recently filed with the secretary of state:

## Kansas House of Representatives, 48th District

**Jennifer Day**, 11941 Perry St., Overland Park, KS 66213. Succeeds David Benson, resigned.

## District Judge, 3rd Judicial District

Lori Dougherty-Bichsel, 214 SE 8th Ave., Topeka, KS 66603.

## District Judge, 13th Judicial District

Kristin Hutchinson, 1177 Killdeer, Howard, KS 67349.

## District Judge, 16th Judicial District

Andrew Stein, 206 W. Wyatt Earp Blvd., Dodge City, KS 67801.

## **Marshall County Commissioner**

**Timothy Ackerman**, 610 N. 14th St., Marysville, KS 66508. Succeeds Daniel Hargrave.

## Wilson County Attorney

**Larry Markle,** 503 Southern Hills Dr., Coffeyville, KS 67337. Succeeds Kenley Thompson.

### **Woodson County Sheriff**

**Douglas Campbell,** 508 E. Kansas, Yates Center, KS 66783. Succeeds Wayne Faulkner.

### 911 Coordinating Council

**William Robbins,** 3665 Vermont Rd., Wellsville, KS 66092. Term expires June 30, 2021. Succeeds Kerry McCue.

### **Advisory Committee on Trauma**

**Dr. Stepheny Berry,** 2809 W. 82nd St., Leawood, KS 66206. Term expires June 30, 2023. Succeeds Paul Harrison.

**Janet Kemmerer,** PO Box 182, Jewell, KS 66949. Term expires June 30, 2023. Reappointed.

**Dr. Wael Khreiss,** 3616 SW York Way, Topeka, KS 66604. Term expires June 30, 2023. Succeeds William Sachs.

**Carol Perry,** 5617 SW Clarion Ln., Topeka, KS 66610. Term expires June 30, 2023. Reappointed.

## Credit Union Council, Kansas

**Michael Augustine**, 21201 W. 126th St., Olathe, KS 66061. Term expires March 16, 2023. Reappointed.

Charles Bullock, 201 S. St. Francis Ave., Apt. 300, Wichita, KS 67202. Term expires March 16, 2022. Reappointed. Kirsten Flory, 1038 N. 600 Rd., Baldwin City, KS 66006. Term expires March 16, 2023. Reappointed.

#### Dental Board, Kansas

**Dr. Mark Herzog,** 800 16th Rd., Ellsworth, KS 67439. **Future of Higher Education Council** 

**Dr. Cynthia Lane**, 3212 N. 68th Terr., Kansas City, KS 66109.

## Healing Arts, State Board of

**Stephanie Suber,** 15264 254th St., Lawrence, KS 66044. Term expires June 30, 2023. Succeeds Myron Leinwetter.

## High School Athletic Association, Kansas State

**David Abel,** 557 N. Broadview St., Wichita, KS 67208. Term expires June 30, 2021.

Catherine Smith, 15807 W. 149th Terr., Olathe, KS 66062. Term expires June 30, 2022.

**Rev. Delvin Strecker,** 2417 Blackmoore Dr., Salina, KS 67401. Term expires June 30, 2021.

**Dr. Linda Wiley,** 7410 NW Kiro Ct., Silver Lake, KS 66539. Term expires June 30, 2022. Succeeds Pam McComas.

## Kansas Sports Hall of Fame Board of Trustees

**Larry Britegam,** 102 S. Skyline Dr., Salina, KS 67401. Term expires April 30, 2023. Succeeds Ken Berry.

Robert Lutz, 2045 N. Gow St., Wichita, KS 67203. Term expires April 30, 2024. Reappointed.

#### Propane Education and Research Council, Kansas

Edward Barrett, 401 N. Oak St., Pratt, KS 67124. Term expires August 31, 2022. Succeeds Larry Cazier.

Lewis Creek, 4820 110th St., Meriden, KS 66512. Term expires August 31, 2022. Succeeds John Pankratz.

Richard Mentzer, 862 130th Rd., Yates Center, KS 66783. Term expires August 31, 2021. Succeeds Craig Settle

**Robert Northcutt,** 2401 Murray Ct., El Dorado, KS 67042. Term expires August 31, 2022. Succeeds Eric Payne.

### Radiologic Technology Council

**Hillary Lolley,** 3627 SW Kings Forest Rd., Topeka, KS 66610. Term expires July 1, 2022.

**Jesse Woltje,** 5020 NE Indian Creek Rd., Topeka, KS 66617. Term expires July 1, 2024. Succeeds Melinda Chiroy.

#### **Respiratory Care Council**

**Jacquelyn Harvey**, 2220 Ave. C., Geneseo, KS 674445. Term expires February 28, 2021.

### **State Banking Board**

**Justin Nichols,** 5410 Gleason Rd., Shawnee, KS 66226. Term expires March 15, 2023. Succeeds Neal Bernauer.

#### State Historic Sites Board of Review

**Dr. John Hoopes**, 1200 Oak Tree Dr., Lawrence, KS 66049. Term expires June 30, 2022. Reappointed.

Mark Kelly, 23184 151st St., Leavenworth, KS 66048. Term expires June 30, 2023. Succeeds Laura Murphy.

**Terry Marmet**, 3917 SW Stoneybrook Dr., Topeka, KS 66610. Term expires June 30, 2023. Succeeds Sharron Hamilton.

Mary McMurrary, 7632 Norwood St., Prairie Village, KS 66208. Term expires June 30, 2021. Succeeds Toni Stewart.

**Dr. Jay Price**, 126 S. Bonnie Brae St., Wichita, KS 67207. Term expires June 30, 2022. Succeeds David Sachs.

**Gregory Schneider,** 6939 SW 44th St., Topeka, KS 66610. Term expires June 30, 2021. Reappointed.

**Jean Schodorf**, 3039 W. Benjamin Ct., Wichita, KS 67204. Term expires June 30, 2023.

Edna Wagner, 2145 Shenandoah Dr., Leavenworth, KS 66048. Term expires June 30, 2022. Succeeds Timothy Hersh.

**Dana Williamson,** 507 Andrew St., Dodge City, KS 67801. Term expires June 30, 2021. Succeeds Joseph Johnson

## State Library of Kansas Board

**Ann Adrian**, 1704 Cypress Ln., Newton, KS 67114. Term expires June 30, 2023. Succeeds Henry Hungerbeeler.

#### Volunteer Commission, Kansas

Marcee Binder, 3109 Scotty Dr., Pittsburg, KS 66762. Term expires March 24, 2022. Succeeds Michele Carlstedt.

**Ralph Costilla,** 1212 S. Gasaway Dr., Derby, KS 67037. Term expires March 24, 2023.

**Brittany Crabtree**, 4038 SE Howard Dr., Topeka, KS 66605. Term expires March 24, 2022. Succeeds Peggy Mast.

**Dr. Joe Marlow**, 24584 W. 110th St., Olathe, KS 66061. Term expires March 24, 2022. Reappointed.

**Breanna Monk**, 2037 S. White Oak Dr., Wichita, KS 67207. Term expires March 25, 2023. Reappointed.

Shelby Ostrom, 11620 W. 118th Terr., Apt., 628, Overland Park, KS 66210. Term expires March 25, 2022. Reappointed.

**Amy Pinger**, 4212 SW Shunga Dr., Topeka, KS 66614. Term expires March 24, 2023.

**Dr. Emily Riner,** 1975 E. 850th Rd., Lecompton, KS 66050. Term expires March 24, 2023. Succeeds Chuck Knapp.

**Ginger Williams,** 14017 W. 88th Terr., Lenexa, KS 66215. Term expires March 24, 2022. Succeeds Amy Pinger.

#### Water Authority, Kansas

**Allen Roth,** 1313 Steven Dr., Hays, KS 67601. Term expires January 14, 2024. Succeeds Ted Nighswonger.

**Allan Soetaert**, 29055 W. 151st St., Gardner, KS 66030. Term expires January 14, 2024. Succeeds Dennis Schwartz.

Scott Schwab Secretary of State

Doc. No. 048242

(Published in the Kansas Register on June 25, 2020)

## City of Elk City, Kansas

## Notice of Intent to Seek Private Placement \$625,000 General Obligation Bonds Series 2020B (Water Treatment Plant Improvements)

Notice is hereby given that the City of Elk City, Kansas, proposes to seek a private placement of the above-referenced bonds. The maximum aggregate principal amount of the bonds shall not exceed \$625,000. The proposed sale of the bonds is in all respects subject to approval of a bond purchase agreement between the issuer and the purchaser of the bonds and the passage of an ordinance and adoption of a resolution by the governing body of the issuer authorizing the issuance of the bonds and the execution of various documents necessary to deliver the bonds.

Kendria Schnug City Clerk

Doc. No. 048236

(Published in the Kansas Register June 25, 2020.)

## City of Blue Rapids, Kansas

## Notice of Intent to Seek Private Placement \$775,000 General Obligation Bonds Series 2020

Notice is given that the City of Blue Rapids, Kansas (the "Issuer"), proposes to seek a private placement of the above-referenced bonds. The maximum aggregate principal amount of the bonds shall not exceed \$775,000. The proposed sale of the bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the bonds and the passage of an ordinance and adoption of a resolution by the governing body of the Issuer authorizing the issuance of the bonds and the execution of various documents necessary to deliver the bonds.

Chrystal Busey City Clerk

Doc. No. 048240

(Published in the Kansas Register June 25, 2020.)

## City of Andover, Kansas

Summary Notice of Bond Sale \$4,440,000\* General Obligation Bonds Series A, 2020

#### Details of the Sale

Subject to the terms and requirements of the Official Notice of Bond Sale, dated May 26, 2020, of the City of Andover, Kansas (the "City"), bids to purchase the City's General Obligation Bonds, Series A, 2020, (the "Bonds") will be received at the office of the City Clerk at City Hall, 1609 E. Central, Andover, KS 67002 or by telefacsimile at 316-733-4634 or electronically as described in the Official

Notice of Bond Sale until 11:00 a.m. (CST) Tuesday, July 14, 2020. The bids will be considered by the governing body at its meeting at 7:00 p.m. (CST) on the sale date.

No oral or auction bids for the Bonds shall be considered, and no bids for less than 100 percent of the total principal amount of the Bonds and accrued interest to the date of delivery shall be considered.

## **Good Faith Deposit**

Bidders must submit a good faith deposit in the form of a wire transfer or certified or cashier's check made payable to the order of the City, or a financial surety bond (if then available), in an amount equal to 2% of the principal amount of the Bonds.

## **Details of the Bonds**

The Bonds will be dated July 30, 2020 and will be issued as registered bonds in denominations of \$5,000, or any integral multiple thereof. Interest on the Bonds is payable semiannually on April 1 and October 1 of each year, beginning April 1, 2021. Principal of the Bonds becomes due on October 1 in the years and amounts as shown below:

## **Maturity Schedule**

Principal Amount*	Maturity Date	Principal Amount*	Maturity Date
\$150,000	2021	\$220,000	2031
175,000	2022	225,000	2032
185,000	2023	235,000	2033
190,000	2024	240,000	2034
200,000	2025	245,000	2035
205,000	2026	250,000	2036
205,000	2027	255,000	2037
210,000	2028	265,000	2038
215,000	2029	270,000	2039
220,000	2030	280,000	2040

### **Payment of Principal and Interest**

The Treasurer of the State of Kansas will serve as the Bond Registrar and Paying Agent for the Bonds.

#### **Book-Entry Bonds**

The Bonds will be issued and registered under a book-entry-only system administered by The Depository Trust Company, New York, New York ("DTC").

#### **Delivery of the Bonds**

The City will prepare the Bonds at its expense and will deliver the registered Bonds to DTC on or about July 30, 2020. Any bond printing costs will be paid by the City from the proceeds of the Bonds or other City funds.

#### **Legal Opinion**

The Bonds will be sold subject to the legal opinion of Triplett Woolf Garretson, LLC, Wichita, Kansas, Bond Counsel, whose fees will be paid by the City.

#### **Financial Matters**

The City's current assessed valuation for purposes of calculating statutory debt limitations is \$180,788,661. As of July 30, 2020, the City's total outstanding general obligation debt (including the Bonds), is \$44,500,000\* which excludes temporary notes outstanding in the amount of \$5,165,000 which will be retired out of the proceeds of (continued)

the Bonds herein offered for sale. The City's total indebtedness which is subject to debt limitation, as of July 30, 2020, is estimated to be \$18,692,669.45\*, which is 10.34%\* of the assessed valuation of the City.

#### **Additional Information**

For additional information contact the City Clerk at the address and telephone number shown below, or the Financial Advisor, Mr. Dustin Avey, Piper Sandler & Co., 11635 Rosewood St., Leawood, KS 66211, telephone 913-345-3375.

City of Andover, Kansas Susan C. Renner, City Clerk City Hall, 1609 E. Central Andover, KS 67002 316-733-1303 Fax: 316-733-4634

\* Principal amount subject to change. Doc. No. 048239

#### State of Kansas

## **Board of Regents**

## Notice of Hearing on Proposed Administrative Regulations

The Kansas Board of Regents will conduct a public hearing to consider the revocation of K.A.R. 88-29-1, 88-29-11, 88-29-18, and 88-29-19; the amendment of K.A.R. 88-29-3, 88-29-12 through 88-29-17, 88-29a-1, 88-29a-5, 88-29a-6, 88-29a-7, 88-29a-7a, 88-29a-9, 88-29a-10, 88-29a-11, 88-29a-18, 88-29a-19, 88-29b-1, 88-29b-3, 88-29b-5, 88-29b-6, 88-29b-7, 88-29b-7a, 88-29b-9, 88-29b-10; and proposed new regulations K.A.R. 88-29c-1, 88-29c-5, 88-29c-7, 88-29c-9, 88-29c-10, 88-29d-1, 88-29d-5, 88-29d-7, 88-29d-9, 88-29d-10. The hearing will be held at 10:00 a.m. August 27, 2020, in the Kansas Board of Regents Board Room, 1000 SW Jackson St., Suite 520, Topeka, KS 66612.

This 60-day notice of the public hearing shall constitute a public comment period for receiving written public comments on the proposed amendments to the regulations. All interested parties may submit comments prior to the hearing to Renee Burlingham at the Kansas Board of Regents' above address, by phone at 785-430-4239, or via email to rburlingham@ksbor.org. All interested parties will be given a reasonable opportunity to present their views orally on the proposed amendments to the regulations during the hearing. To provide all parties with an opportunity to present their views, it may be necessary to request each participant limit any oral presentation to five minutes.

Any individual with a disability may request accommodation in order to participate in the public hearing and may request the proposed regulations and economic impact statement in an accessible format. Requests for accommodation to participate in the hearing should be made at least five working days in advance of the hearing by contacting Renee Burlingham through the contact information listed above. Individuals with hearing and/or speech disabilities may contact the Kansas Relay Center at 800-766-3777 for communication accommodations.

Copies of the proposed regulations and the economic impact statement may be found at http://www.kansas

regents.org/about/rules-regulations or by contacting Renee Burlingham.

A summary of the proposed regulations and the economic impact statements for the regulations follows: The overall purpose for this set of proposed amendments, new regulations and revocations is to establish different criteria, beginning with the summer 2021 cohort, for admission to the state universities of first-time freshmen who have graduated from high school. The changes to current criteria include 1) eliminating the requirement for completing a specified precollege curriculum with a specified GPA, and 2) replacing the top third rank option with an option of an overall GPA of 2.25 for admissions to Emporia State, Fort Hays State, Pittsburg State and Wichita State Universities, or 3.25 for admissions to Kansas State University. K.A.R. 88-29-1, 88-29-11, 88-29-18, and 88-29-19 are being revoked because they have timed out in accordance with their own terms and other regulations are being amended so their termination dates coincide with the effective dates for the new regulations that will replace them. In establishing the qualifications set forth in these regulations, the Kansas Board of Regents is balancing access against predicted ability to succeed at each state university. The qualifications differ among the state universities, and between Kansas and other states' public universities, for this reason. There is no anticipated economic impact on private business or public entities, including Kansas high schools, from these regulations. State universities may see an increase in enrollment as more students become eligible for admission and may therefore choose to apply to those institutions. However, there are too many factors that go into students' decision whether and where to attend a postsecondary educational institution to estimate the impact of these regulations on any individual student or institution. Any implementation and compliance costs on businesses, business sectors, public utility ratepayers, other individuals and local government units are expected to be negligible.

> Blake Flanders President and CEO

Doc. No. 048243

#### State of Kansas

## **Kansas Lottery**

## **Temporary Administrative Regulations**

### Article 4.—INSTANT GAMES AND DRAWINGS

**111-4-3611.** "Double Bonus Crossword" instant ticket lottery game number 170. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Double Bonus Crossword." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3611.

(b) The "play symbols" for the "YOUR LETTERS," "BONUS LETTERS," "BONUS WORD," and the crossword puzzle grid in this game are as follows: A-B-C-D-E-F-G-H-I-J-K-L-M-N-O-P-Q-R-S-T-U-V-W-X-Y-Z. There are no "play symbol captions" for the play symbols listed hereinabove.

The "prize box symbols" and "prize box symbol captions" for this game are as follows:

Prize Box Symbols	Captions
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$25^{.00}$	TWEN-FIV
$50^{.00}$	FIFTY

- (c) For this game, a play symbol shall appear in each of 18 play spots within the "YOUR LETTERS" play area, in each of two play spots within the "BONUS LETTERS" play area, in each of the five play spots within the "BONUS WORD," and a variable number of times within the crossword puzzle grid.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) "Double Bonus Crossword" consists of four play areas. In the upper part of the ticket there is a crossword puzzle grid that contains 11 spaces (height) by 11 spaces (width) covered by transparent latex. In the "YOUR LET-TERS" play area, located in the lower part of the ticket, there are 18 letters located under opaque latex. To the right of the "YOUR LETTERS" play area is the "BONUS LET-TERS" play area in which there are two letters covered by opaque latex. Imaged around each of the 18 "YOUR LETTERS" and two "BONUS LETTERS" there will be a four-sided box composed of solid lines. In the "BONUS WORD" play area, located below the "YOUR LETTERS," there is a "BONUS WORD" with a prize box. Imaged around each of the five letters in the "BONUS WORD" there will be a four-sided box composed of solid lines. A player will remove the latex from the "YOUR LETTERS" and "BONUS LETTERS" play areas one letter at a time, and then for each matching letter in the crossword puzzle grid and the "BONUS WORD" play area scratch off the transparent latex. Each letter revealed in the "YOUR LET-TERS" and "BONUS LETTERS" play areas may be used an unlimited number of times in the crossword puzzle grid. If a player reveals at least three complete words in the crossword puzzle grid, the player wins the corresponding prize in the prize legend. The prize legend on the front of the ticket indicates prizes won for number of words revealed. If a player reveals all letters in the "BONUS WORD," the player wins the prize shown in the prize box.

The following prize legend will be displayed on the ticket:

FIND	WIN
3 words	Free Ticket
4 words	\$5
5 words	\$10
6 words	\$20
7 words	\$100
8 words	\$500
9 words	\$2,000
10 words	\$20,000

- (g) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:
  - (1) must contain at least three letters;
- (2) cannot be formed diagonally, run right to left or from bottom to top;

- (3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;
- (4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces; and
- (5) every single letter in the unbroken string must be revealed in "YOUR LETTERS," or "BONUS LETTERS" areas and be included to form a word.
  - (h) Each ticket in this game may win up to two times.
- (i) Approximately 7,680,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

			Winners Per	
	<b>Bonus Word</b>	Prize	7,680,000	Prize Cost
FREE		FREE	1,280,000	\$0
\$5		\$5	332,800	\$1,664,000
	\$5	\$5	15,360	\$76,800
\$10		\$10	176,640	\$1,766,400
	\$10	\$10	8,704	\$87,040
\$10	\$5	\$15	6,144	\$92,160
\$20		\$20	58,880	\$1,177,600
\$10	\$10	\$20	5,120	\$102,400
	\$25	\$25	2,560	\$64,000
	\$50	\$50	1,376	\$68,800
\$100		\$100	7,680	\$768,000
\$500		\$500	1,056	\$528,000
\$2,000		\$2,000	224	\$448,000
\$20,000		\$20,000	32	\$640,000
Players Loyalty	Program	\$75,000		\$75,000
		TOTAL	1,896,576	\$7,558,200

- (k) The odds of winning a prize in this game are approximately one in 4.05. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-6-8-20, April 22, 2020.)
- **111-4-3612.** "Super Red Hot Crossword" instant ticket lottery game number 171. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Super Red Hot Crossword." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3612.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Prize Symbols	Captions
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$15^{.00}$	FIFTEEN
$20^{.00}$	TWENTY
25.00	TWEN-FIV
$50^{.00}$	FIFTY
$75^{.00}$	SVTYFIV
\$100	ONE-HUN

## **Play Symbols**

Α

В

C D Ε F G Η Ι J K L Μ Ν O Р Q R S Τ U V W Χ Υ Z

- (c) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (d) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (e) "Super Red Hot Crossword" will feature four separate play areas, "YOUR LETTERS," two "CROSSWORD" puzzles, and a "BONUS" area. The top puzzle grid will be imaged in black. The bottom puzzle grid will be imaged in red.

In the "CROSSWORD" games, the player will scratch the "YOUR LETTERS" play area to reveal 20 "YOUR LETTERS." Each of the "YOUR LETTERS" may be used in both crossword puzzles. A player matches the corresponding letters in both crossword puzzles by removing the translucent scratch-off material covering the matching letter. If a player scratches a total of four or more completed words across both puzzles, the player wins the corresponding prize in the prize legend. The entire word must be uncovered to win the corresponding prize. Only the highest corresponding prize can be won.

In the "BONUS" play area, if a player reveals two matching prize symbols, the player wins that amount instantly. A player can win once in this game play area. The following prize legend will be displayed on the ticket:

FIND	WIN
4-black words	Free Ticket
2–black words + 2 red words	\$5
4–red words	\$10
5–black words	\$20
3–black words + 2 red words	\$25
2–black words + 3 red words	\$50
6–black words	\$100
4–black words + 2 red words	\$200
3–black words + 3 red words	\$1,000

2–black words + 4 red words \$5,000 6–red words \$50,000

- (f) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:
  - (1) must contain at least three letters;
- (2) cannot be formed diagonally, run right to left or from bottom to top;
- (3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;
- (4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces;
- (5) every single letter in the unbroken string must be revealed in the "YOUR LETTERS" area and be included to form a word.
  - (g) Each ticket in this game may win up to two times.
- (h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

Crossword	Bonus	Prizes	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket		Free Ticket	200,000	\$0
\$5		\$5	38,280	191,400
\$10		\$10	22,800	228,000
	\$10	\$10	6,400	64,000
\$5	\$5	\$10	8,000	80,000
\$20		\$20	11,600	232,000
	\$20	\$20	5,200	104,000
\$10	\$10	\$20	5,200	104,000
\$25		\$25	6,360	159,000
	\$25	\$25	4,520	113,000
\$10	\$15	\$25	4,400	110,000
\$50		\$50	5,600	280,000
	\$50	\$50	3,560	178,000
\$25	\$25	\$50	3,600	180,000
	\$75	\$75	800	60,000
\$50	\$25	\$75	800	60,000
\$100		\$100	2,896	289,600
	\$100	\$100	800	80,000
\$50	\$50	\$100	1,800	180,000
\$200		\$200	152	30,400
\$1,000		\$1,000	100	100,000
\$5,000		\$5,000	24	120,000
\$50,000		\$50,000	4	200,000
Players Loyalty Prog	ram	\$31,600		31,600
TOTAL			332,896	\$3,175,000

(j) The odds of winning a prize in this game are approximately one in 3.60. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-6-8-20, April 22, 2020.)

**111-4-3613.** "\$100,000 Crossword" instant ticket lottery game number 172. (a) The Kansas lottery may conduct an instant winner lottery game entitled "\$100,000 Crossword." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3613.

(b) The "play symbols" for this game are as follows:

Doubler Puzzle Play Symbols: A–B–C–D–E–F–G–H–I–J–K–L–M–N–O–P–Q–R–S–T–U–V–W–X–Y–Z–symbol of a money bag.

Mega Puzzle Play Symbols: A-B-C-D-E-F-G-H-I-J-K-L-M-N-O-P-Q-R-S-T-U-V-W-X-Y-Z.

Bonus Word Play Symbols: A-B-C-D-E-F-G-H-I-J-K-L-M-N-O-P-Q-R-S-T-U-V-W-X-Y-Z.

Your Letters Play Symbols: A-B-C-D-E-F-G-H-I-J-K-L-M-N-O-P-Q-R-S-T-U-V-W-X-Y-Z.

There are no "play symbol captions" in this game puzzle.

(c) The "\$100,000 Crossword" ticket features four separate play areas, "YOUR LETTERS," "DOUBLER PUZZLE" crossword puzzle, "MEGA PUZZLE" crossword puzzle and a "BONUS WORD."

In the crossword puzzles, the player will scratch the "YOUR LETTERS" play area to reveal 20 letters. Each of the "YOUR LETTERS" may be used in both crossword puzzles and the "BONUS WORD." A player matches the corresponding letters in both crossword puzzles and the "BONUS WORD" by removing the translucent scratch-off material covering the matching letter. A player wins according to the prize legend associated with each puzzle. Each puzzle plays separately.

In the "DOUBLER PUZZLE," if the player scratches three or more completed words, the player wins the corresponding prize in the prize legend. If one of the winning combinations shown in the prize legend has a completed word with a symbol of a money bag, the player wins double the prize amount shown in the prize legend. Only the highest corresponding prize can be won. A player can win up to one time on this puzzle.

In the "MEGA PUZZLE," if the player scratches five or more completed words, the player wins the corresponding prize in the prize legend. Only the highest corresponding prize can be won. A player can win up to one time on this puzzle.

In the "BONUS WORD" play area, if the player completely uncovers the "BONUS WORD" using "YOUR LETTERS," the player wins \$15 instantly.

The following prize legends will be displayed on the ticket:

#### **DOUBLER PUZZLE:**

FIND	WIN
3 words	\$10
4 words	\$20
5 words	\$25
6 words	\$50
7 words	\$75
8 words	\$100
9 words	\$500

## **MEGA PUZZLE:**

FIND	WIN
5 words	\$10
6 words	\$25
7 words	\$50
8 words	\$75
9 words	\$100

10 words	\$200
11 words	\$500
12 words	\$1,000
13 words	\$10,000
14 words	\$100,000

- (d) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:
  - (1) must contain at least three letters;
- (2) cannot be formed diagonally, run right to left or from bottom to top;
- (3) must appear in an unbroken horizontal or vertical string of letters in the crossword puzzle;
- (4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces; and
- (5) every single letter in the unbroken string must be revealed in the "YOUR LETTERS" area and be included to form a word.
- (e) For this game, a play symbol shall appear in each of 20 play spots within the "YOUR LETTERS" play area, in each of five play spots within the "BONUS WORD" play area, and a variable number of times within the crossword puzzle grids.
- (f) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (g) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.
  - (h) Each ticket in this game may win up to three times.
- (i) Approximately 600,030 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 200,010 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

		Bonus		Winners Per	
Puzzle 1	Puzzle 2	Word	Prize	600,030	Prize Cost
3 words			\$10	44,001	\$440,010
	5 words		\$10	44,001	\$440,010
		\$15	\$15	42,000	\$630,000
4 words			\$20	9,999	\$199,980
3 words (dbl)			\$20	9,999	\$199,980
3 words	5 words		\$20	10,005	\$200,100
5 words			\$25	6,000	\$150,000
	6 words		\$25	6,000	\$150,000
3 words		\$15	\$25	6,000	\$150,000
	5 words	\$15	\$25	6,000	\$150,000
6 words			\$50	990	\$49,500
4 words (dbl)	5 words		\$50	990	\$49,500
5 words (dbl)			\$50	1,008	\$50,400
	7 words		\$50	1,008	\$50,400
5 words	6 words		\$50	1,005	\$50,250
3 words	6 words	\$15	\$50	900	\$45,000
5 words	5 words	\$15	\$50	900	\$45,000
7 words			\$75	450	\$33,750
	8 words		\$75	450	\$33,750
6 words	6 words		\$75	450	\$33,750
5 words	7 words		\$75	450	\$33,750
8 words			\$100	258	\$25,800
6 words (dbl)			\$100	258	\$25,800
					(continued)

	9 words		\$100	258	\$25,800
6 words	7 words		\$100	258	\$25,800
3 words	8 words	\$15	\$100	258	\$25,800
	10 words		\$200	210	\$42,000
7 words (dbl)	7 words		\$200	195	\$39,000
8 words (dbl)			\$200	195	\$39,000
9 words			\$500	120	\$60,000
	11 words		\$500	120	\$60,000
9 words (dbl)	Words		\$1,000	30	\$30,000
, , , , , , , , , , , , , , , , , , , ,	12 words		\$1,000	27	\$27,000
9 words	11 words		\$1,000	27	\$27,000
	13 words		\$10,000	6	\$60,000
	14 words		\$100,000	5	\$500,000
Players Loyalty	7 Program				\$41,981
			TOTAL	194,831	\$4,240,111

dbl - denotes "Money Bag" doubler feature

- (k) The odds of winning a prize in this game are approximately one in 3.08. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-6-8-20, April 22, 2020.)
- **111-4-3614.** "Extreme Crossword" instant ticket lottery game number 179. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Extreme Crossword." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3614.
- (b) The "play symbols" for this game are as follows: A-B-C-D-E-F-G-H-I-J-K-L-M-N-O-P-Q-R-S-T-U-V-W-X-Y-Z. There are no "play symbol captions" in this game.

The "prize symbols" and "captions" for this game are as follows:

Prize Symbols	Captions
$20^{.00}$	TWENTY
30.00	THIRTY

- (c) For this game, a play symbol shall appear in each of 20 play spots within the "CALL LETTERS" play area, in each of six play spots within each "BONUS WORD" play area, in two play spots in the "BONUS WORD PRIZE" area, and a variable number of times within the crossword puzzle grid.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.
- (e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.
- (f) The "Extreme Crossword" game is a two-sided crossword game with six separate play areas. The play areas include "CALL LETTERS," "PUZZLE 1," "PUZZLE 2," "PUZZLE 3," "BONUS WORD 1," and "BONUS WORD 2." The player will scratch the "CALL LETTERS" play area to reveal 20 "CALL LETTERS." The player will then match each "CALL LETTER" with the corresponding letters in all three Crossword Puzzles and in both "BONUS WORD" play areas by removing the translucent scratch-off material covering the matching letter. If a player scratches three

or more completed words in any puzzle, the player wins the corresponding prize shown in the prize legend associated with each crossword puzzle. Only the highest corresponding prize can be won for each puzzle. Each puzzle plays separately. If a player scratches the entire "BONUS WORD," the player wins the corresponding prize shown in the "BONUS WORD PRIZE" box for that "BONUS WORD." The entire "BONUS WORD" must be uncovered to win the corresponding prize.

The prize legends for the crossword puzzles in this game are as follows:

PUZZLE 1:		PUZZLES 2 and	1 3:
FIND	WIN	FIND	WIN
3 words	FREE TICKET	3 words	FREE TICKET
4 words	\$20	4 words	\$20
5 words	\$30	5 words	\$30
6 words	\$60	6 words	\$60
7 words	\$80	7 words	\$80
8 words	\$100	8 words	\$100
9 words	\$1,000	9 words	\$1,000
10 words	\$100,000	10 words	\$150,000

- (g) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:
  - (1) must contain at least three letters;
- (2) cannot be formed diagonally, run right to left or from bottom to top;
- (3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;
- (4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces;
- (5) every single letter in the unbroken string must be revealed in "CALL LETTERS," and be included to form a word
  - (h) Each ticket in this game may win up to five times.
- (i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

			Bonus	Bonus		Winners Pe	r
Puzzle 1	Puzzle 2	Puzzle 3	Word 1	Word 2	Prize	600,000	Prize Cost
					Free		
3 words					Ticket	10,000	\$0
					Free		
	3 words				Ticket	10,000	\$0
					Free		
		3 words			Ticket	10,000	\$0
4 words					\$20	24,000	\$480,000
	4 words				\$20	24,000	\$480,000
		4 words			\$20	23,900	\$478,000
				\$20	\$20	23,800	\$476,000
			\$20		\$20	23,800	\$476,000
5 words					\$30	14,000	\$420,000
	5 words				\$30	14,000	\$420,000
		5 words			\$30	14,000	\$420,000
				\$30	\$30	14,000	\$420,000
			\$30		\$30	14,000	\$420,000
6 words					\$60	2,500	\$150,000
	6 words				\$60	2,500	\$150,000
		6 words			\$60	2,500	\$150,000

**TWYTW** 

**TWYTR** 

22 23

		5 words	\$30		\$60	2,500	\$150,000
4 words	4 words	4 words			\$60	2,500	\$150,000
5 words			\$30		\$60	2,500	\$150,000
	5 words			\$30	\$60	2,500	\$150,000
5 words		5 words			\$60	2,500	\$150,000
7 words					\$80	1,700	\$136,000
	7 words				\$80	1,700	\$136,000
		7 words			\$80	1,640	\$131,200
4 words	4 words	4 words		\$20	\$80	1,290	\$103,200
4 words	4 words	4 words	\$20		\$80	1,280	\$102,400
	5 words		\$30	\$20	\$80	1,280	\$102,400
6 words		4 words			\$80	1,280	\$102,400
4 words	4 words		\$20	\$20	\$80	1,280	\$102,400
8 words					\$100	800	\$80,000
	8 words				\$100	800	\$80,000
		8 words			\$100	800	\$80,000
	7 words		\$20		\$100	800	\$80,000
4 words	4 words	4 words	\$20	\$20	\$100	870	\$87,000
7 words	4 words				\$100	720	\$72,000
9 words					\$1,000	38	\$38,000
	9 words				\$1,000	40	\$40,000
		9 words			\$1,000	40	\$40,000
10							
words					\$100,000	1	\$100,000
	10 words				\$150,000	2	\$300,000
		10 words			\$150,000	2	\$300,000
Players L	oyalty Pro	ogram			\$79,800		\$79,800
					TOTAL.	255.062	# <b>#</b> 00 <b>0</b> 000
					TOTAL	255,863	\$7,982,800

(k) The odds of winning a prize in this game are approximately one in 2.34. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and K.S.A. 74-8720; effective, T-111-6-8-20, April 22, 2020.)

111-4-3615. "Win \$50 or \$100" instant ticket lottery game number 181. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Win \$50 or \$100." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3615.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THR
4	FOR
5	FIV
6	SIX
7	SVN
8	EGT
9	NIN
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
20	TWNTY
21	TWYON

Prize Symbols	Captions
Symbol of a starburst \$100	WIN\$100
Symbol of a starburst \$100	BELL WING100
Symbol of a slice of watermelon	MELN
Symbol of a pot of gold	PTGLD
Symbol of a star	STAR
Symbol of a crown	CROWN
Symbol of a coin	COIN
Symbol of a starburst \$50	WIN\$50
Symbol of a key	KEY
Symbol of a fortune cookie	COOKIE
Symbol of a horseshoe	HRSHOE
Symbol of two cherries	CHERRY
Symbol of a ring	RING
Symbol of a gold bar	GLDBAR
Symbol of a money bag	WIN\$
50	FIFTY
49	FRYNI
48	FRYET
47	FRYSV
46	FRYSX
45 46	FRYFV
	FRYFR
43 44	FRYTR
42	FRYTW
41	FRYON
40	FORTY
39	THYNI
38	THYET
37	THYSV
36	THYSX
35	THYFV
34	THYFR
33	THYTR
32	THYTW
31	THYON
30	THRTY
29	TWYNI
28	TWYET
27	TWYSV
26	TWYSX
25	TWYFV
24	TWYFR
23	1 1 1 1 1 1 1

\$50.00	FIFTY
\$100	ONEHUN

- (c) For this game, a play/prize symbol shall appear in 60 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.
- (f) "Win \$50 or \$100" is a key number match game with four bonus play spots. A player will remove the (continued)

**EGHTN** 

**NINTN** 

**TWNTY** 

18

19

20

scratch-off material to reveal four bonus spot play symbols, six "WINNING NUMBERS," and 25 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUM-BERS," the player wins the prize amount shown below the "YOUR NUMBER." If the player reveals a symbol of a money bag, the player wins the prize amount shown for that symbol automatically.

In the bonus play area, if the player reveals a symbol of a symbol of a starburst \$50 or a symbol of a starburst \$100, in any of the bonus play spots, the player wins the prize amount shown in the starburst.

- (g) Each ticket in this game may win up to two times.
- (h) Approximately 510,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

Get	Prize	Expected Number of Prizes in Game	Expected Value in Game
\$50	\$50	34,000	\$1,700,000.00
\$100	\$100	9,775	\$977,500.00
\$50 x 2	\$100	9,656	\$965,600.00
Sub-Total:		53,431	\$3,643,100.00
Player Loyalty Program			\$33,500.00
Total:		53,431	\$3,676,600.00

- (j) The odds of winning a prize in this game are approximately one in 9.54. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-6-8-20, April 22, 2020.)
- 111-4-3616. "Win \$100 or \$200" instant ticket lottery game number 182. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Win \$100 or \$200." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3616.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THR
4	FOR
5	FIV
6	SIX
7	SVN
8	EGT
9	NIN
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SVNTN

20	IVVINII
21	TWYON
22	TWYTW
23	TWYTR
24	TWYFR
25	TWYFV
26	TWYSX
27	TWYSV
28	TWYET
29	TWYNI
30	THRTY
31	THYON
32	THYTW
33	THYTR
34	THYFR
35	THYFV
36	THYSX
37	THYSV
38	THYET
39	THYNI
40	FORTY
41	FRYON
42	FRYTW
43	FRYTR
44	FRYFR
45	FRYFV
46	FRYSX
47	FRYSV
48	FRYET
49	FRYNI
50	FIFTY
Symbol of a money bag	WIN\$
Symbol of a coin	COIN
Symbol of a crown	CROWN
Symbol of a star	STAR
Symbol of a pot of gold	PTGLD
Symbol of a slice of watermelon	MELN
Symbol of a bell	BELL
Symbol of a starburst \$100	WIN\$100
Symbol of a gold bar	GLDBAR
Symbol of a ring	RING
Symbol of two cherries	CHERRY
Symbol of a horseshoe	HRSHOE
Symbol of a fortune cookie	COOKIE
Symbol of a key	KEY
Symbol of a starburst \$200	WIN\$200
Prize Symbols	Captions
\$100	ONEHUN
\$200	TWOHUN
(c) For this game, a play/prize s	
60 play spots within the play area	or areas.

- (c r in 60 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.

- (e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.
- (f) "Win \$100 or \$200" is a key number match game with four bonus play spots. A player will remove the scratch-off material to reveal four bonus spot play symbols, six "WINNING NUMBERS," and 25 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize amount shown below the "YOUR NUMBER." If the player reveals a symbol of a money bag, the player wins the prize amount shown for that symbol automatically.

In the bonus play area, if the player reveals a symbol of a starburst \$100 or a starburst \$200, in any of the bonus play spots, the player wins the prize amount shown in the starburst.

- (g) Each ticket in this game may win up to two times.
- (h) Approximately 390,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected Value
Get	Prize	Prizes in Game	in Game
\$100	\$100	26,195	\$2,619,500.00
\$200	\$200	8,125	\$1,625,000.00
\$100 x 2	\$200	7,800	\$1,560,000.00
Sub-Total:		42,120	\$5,804,500.00
Player Loyalty Program			\$53,000.00
Total:		42,120	\$5,857,500.00

- (j) The odds of winning a prize in this game are approximately one in 9.26. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-6-8-20, April 22, 2020.)
- **111-4-3617.** "Lucky 7s" instant ticket lottery game number 186. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Lucky 7s." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3617.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
05	FIV
06	SIX
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN

(	Symbol of a seven (outlined)	WIN
---	------------------------------	-----

Captions
TICKET
ONE\$
TWO\$
FOUR\$
SEV\$
FORTEEN
TWEN-EGT
FIFTY
SVTSV
ONSHSVSV

- (c) For this game, a play/prize symbol shall appear in 11 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (f) "Lucky 7s" is a key number match game with an instant win. The player will scratch the play area to reveal one "LUCKY NUMBER" and five "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to the "LUCKY NUMBER," the player wins the prize shown below that number. If a player reveals a symbol of a seven (outlined), the player automatically wins the prize amount shown below that symbol.
  - (g) Each ticket in this game may win up to 5 times.
- (h) Approximately 1,800,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

-			
	Prize Amount	Winners Per 1,800,000	Prize Cost
FREE	FREE	90,000	\$0
\$1	\$1	164,100	\$164,100
\$2	\$2	42,000	\$84,000
\$1 x 2	\$2	48,000	\$96,000
\$4	\$4	20,640	\$82,560
\$2 x 2	\$4	21,000	\$84,000
\$7	\$7	12,000	\$84,000
$($2 \times 3) + $1$	\$7	6,000	\$42,000
\$1 + \$2 + \$4	\$7	6,000	\$42,000
\$14	\$14	2,460	\$34,440
\$7 x 2	\$14	3,600	\$50,400
$(\$4 \times 2) + (\$2 \times 3)$	\$14	3,300	\$46,200
\$28	\$28	900	\$25,200
\$14 x 2	\$28	960	\$26,880
\$7 x 4	\$28	1,020	\$28,560
\$50	\$50	420	\$21,000
\$28 + \$14 + \$4 + (\$2 x 2)	\$50	480	\$24,000
\$77	\$77	300	\$23,100
\$1,777	\$1,777	17	\$30,209
2nd Chance Promotion	\$2,019		\$2,019
Players Loyalty Program	\$10,003		\$10,003
TOTAL		423,197	\$1,000,671
			(continued)

- (j) The odds of winning a prize in this game are approximately one in 4.25. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-6-8-20, April 22, 2020.)
- **111-4-3618.** "Lucky 7s Doubler" instant ticket lottery game number 187. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Lucky 7s Doubler." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3618.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	<b>Captions</b>
05	FIV
06	SIX
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
Symbol of a seven (outlined)	WIN
Symbol of DBL	DBL

Prize Symbols	Captions
FREE	TICKET
\$2.00	TWO\$
\$4.00	FOUR\$
\$7.00	SEV\$
$17^{.00}$	SEVNTN
27.00	TWEN-SEV
77.00	SVTSV
\$177	ONSVTSV
\$7777	STSHSVSV

- (c) For this game, a play/prize symbol shall appear in 24 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) "Lucky 7s Doubler" is a key number match game with an instant win and doubler feature. The player will scratch the play area to reveal four "LUCKY NUMBERS" and 10 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "LUCKY NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a seven (outlined),

the player automatically wins the prize amount shown below that symbol. If a player reveals a "DBL" symbol, the player wins double the prize amount shown below that symbol.

(g) Each ticket in this game may win up to 10 times.

- (h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Winners Per	Prize Cost
		1,200,000	
FREE	FREE TICKET	80,000	\$0
\$2	\$2	100,480	\$200,960
\$4	\$4	24,000	\$96,000
\$2 (DBL)	\$4	28,800	\$115,200
\$7	\$7	40,960	\$286,720
\$17	\$17	5,120	\$87,040
\$4 (DBL) + \$7 + \$2	\$17	5,200	\$88,400
$(\$2 \times 5) + \$7$	\$17	4,800	\$81,600
\$27	\$27	2,800	\$75,600
$(\$4 \times 5) + \$7$	\$27	2,800	\$75,600
\$4 (DBL) + \$17 + \$2	\$27	3,200	\$86,400
\$77	\$77	320	\$24,640
\$27 (DBL) + (\$2 x 6) +			
\$4 + \$7	\$77	400	\$30,800
\$27 (DBL) + \$7 + (\$2 x 8)	\$77	400	\$30,800
$(\$17 \times 4) + \$7 + \$2$	\$77	320	\$24,640
\$177	\$177	40	\$7,080
\$77 (DBL) + (\$2 x 4) +			
$(\$4 \times 2) + \$7$	\$177	40	\$7,080
$(\$77 \times 2) + (\$7 \times 3) + \$2$	\$177	40	\$7,080
\$7,777	\$7,777	6	\$46,662
2nd Chance Promotion	\$2,645		\$2,645
Players Loyalty Program	\$13,887		\$13,887
	SUB-TOTAL	299,726	\$1,388,834.00

(j) The odds of winning a prize in this game are approximately one in 4.00. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective,

T-111-6-8-20, April 22, 2020.)

**111-4-3619.** "Lucky 7s Tripler" instant ticket lottery game number 188. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Lucky 7s Tripler." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3619.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
06	SIX
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN

14	FRTN
15	FIFTN
16	SIXTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
Symbol of a seven (outlined)	WIN
Symbol of TPL	TPL

<b>Bonus Play Symbols</b>	Captions
Symbol of a rainbow	RAINBOW
Symbol of a sun	SUN
Symbol of a diamond	DIAMND
Symbol of a heart	HEART
Symbol of a bell	BELL
Symbol of a horseshoe	WIN\$27

Prize Symbols	<b>Captions</b>
FREE	TICKET
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$17^{.00}$	SEVNTN
27.00	TWEN-SEV
57.00	FTYSEV
77.00	SVTSV
\$177	ONSVTSV
\$500	FIVE-HUN
\$1000	ONETHOU
\$27777	TWSSHSS

- (c) For this game, a play/prize symbol shall appear in 56 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
  - (e) The price of instant tickets sold by a retailer for this

game shall be \$5.00 each.

- (f) "Lucky 7s Tripler" is a key number match game with an instant win, bonus area and a tripler feature. The player will scratch the play area to reveal five "LUCKY NUMBERS" and 25 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "LUCKY NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a seven (outlined), the player automatically wins the prize amount shown below that symbol. If a player reveals a "TPL" symbol, the player wins triple the prize amount shown below that symbol. The player will scratch the bonus area. If a player reveals a symbol of a horseshoe, the player instantly wins \$27.
  - (g) Each ticket in this game may win up to 26 times.
- (h) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Bonus	Prize	Winners Per 600,000	Prize Cost
FREE TICKET		FREE TICKET	30,000	\$0
\$5		\$5	57640	\$288,200
\$10		\$10	16800	\$168,000
\$5 + \$5		\$10	16800	\$168,000
\$17		\$17	18000	\$306,000
\$27		\$27	3200	\$86,400
	\$27	\$27	2800	\$75,600
\$17 + \$10		\$27	2400	\$64,800
$(\$5 \times 2) + \$17$		\$27	3600	\$97,200
\$57		\$57	720	\$41,040
\$10 TPL	\$27	\$57	1400	\$79,800
\$5 TPL + (\$5 x 3) +				
\$17 + \$10		\$57	1400	\$79,800
\$77		\$77	400	\$30,800
\$10 x 5	\$27	\$77	720	\$55,440
\$10 TPL + (\$5 x 4)	\$27	\$77	720	\$55,440
(\$5 x 12) + \$17		\$77	400	\$30,800
\$177		\$177	120	\$21,240
\$17 TPL + (\$27 x 2) +				
$(\$10 \times 4) + \$5$	\$27	\$177	160	\$28,320
$(\$5 \times 24) + \$57$		\$177	120	\$21,240
\$500		\$500	20	\$10,000
(\$10 x 6) + (\$17 x 10) +				
(\$27 x 9)	\$27	\$500	20	\$10,000
\$57 TPL + (\$10 x 17) +	-	<b>#</b> F00	20	¢10.000
(\$77 x 2) + \$5		\$500	20	\$10,000
\$1,000		\$1,000	3	\$3,000
\$500 x 2		\$1,000	3	\$3,000
\$500 + (\$57 x 8) + (\$17 x 2) + \$10		\$1,000	3	\$3,000
(\$177 x 5) +(\$27 x 3) +	_	\$1,000	3	φ3,000
$(\$17 \times 2)$ $(\$27 \times 3)$ $(\$17 \times 2)$		\$1,000	4	\$4,000
\$27,777		\$27,777	5	\$138,885
2nd Chance Promotic	n	\$3,366	J	\$3,366
Players Loyalty Progr		\$18,957		\$18,957
TOTAL		Ψ10,207	157,488	\$1,902,328
			107,100	41,702,020

(j) The odds of winning a prize in this game are approximately one in 3.81. (Authorized by K.S.A. 74-8710; (continued)

implementing K.S.A. 74-8710, and 74-8720; effective, T-111-6-8-20, April 22, 2020.)

- **111-4-3620.** "Lucky 7s Multiplier" instant ticket lottery game number 189. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Lucky 7s Multiplier." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3620.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

ie are as remente.	
Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
06	SIX
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
48	FRYEGT
49	FRYNIN
51	<b>FTYONE</b>
52	FTYTWO
of a seven (outlined)	WIN
symbol of a 5X	5TIMES
1 1 6 4006	4000 400

<b>Bonus Play Symbols</b>	Captions
Symbol of a rainbow	RAINBOW
Symbol of a sun	SUN
Symbol of a diamond	DIAMND
Symbol of a heart	HEART
Symbol of a bell	BELL
Symbol of a star	STAR
Symbol of a candle	CANDLE
Symbol of a flower	FLOWER
Symbol of a horseshoe	WIN\$57
Prize Symbols	Captions
FREE	TICKET
10.00	TEN\$

Prize Symbols	Captions
FREE	TICKET
$10^{.00}$	TEN\$
$17^{.00}$	SEVNTN
$20^{.00}$	TWENTY
$27^{.00}$	TWEN-SEV
$50^{.00}$	FIFTY
77.00	SVTSV
\$177	ONSVTSV
\$500	FIVE-HUN
\$1000	ONETHOU
\$77777	SSSVSVSV

- (c) For this game, a play/prize symbol shall appear in 69 play spots within the play or prize areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.
- (f) "Lucky 7s Multiplier" is a key number match game with an instant win, bonus areas and a multiplier feature. The player will scratch the play area to reveal seven "LUCKY NUMBERS" and 30 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "LUCKY NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a seven (outlined), the player automatically wins the prize amount shown below that symbol. If a player reveals a "5X" symbol, the player wins five times the prize amount shown below that symbol. If a player reveals a "10X" symbol, the player wins 10 times the prize amount shown below that symbol. The player will scratch the two bonus areas. The player shall instantly win \$57 for each bonus area in which a horseshoe symbol is revealed.
  - (g) Each ticket in this game may win up to 32 times.
- (h) Approximately 400,020 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 400,020 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Bonus		Winners Per	
	Areas	Prize	400,020	Prize Cost
FREE TICKET		FREE TICKET	26,660	\$0
\$10		\$10	27,180	\$271,800
\$17		\$17	19,000	\$323,000
\$20		\$20	7,500	\$150,000

10TIMES

Symbol of a 10X

Symbol

\$10 + \$10		\$20	7,500	\$150,000
\$27		\$27	5,200	\$140,400
\$10 + \$17		\$27	5,300	\$143,100
\$50		\$50	1,000	\$50,000
\$10 (5X)		\$50	1,500	\$75,000
(\$20 x 2) + \$10		\$50	1,000	\$50,000
\$10 x 5		\$50	1,000	\$50,000
	\$57	\$57	6,890	\$392,730
\$77		\$77	500	\$38,500
\$20	\$57	\$77	600	\$46,200
\$10 x 2	\$57	\$77	600	\$46,200
\$10 (5X) + \$27		\$77	600	\$46,200
(\$10 x 3) + \$20 + \$27		\$77	550	\$42,350
\$177		\$177	150	\$26,550
\$10 (10X) + \$77		\$177	200	\$35,400
\$20 (5X) + \$20	\$57	\$177	200	\$35,400
(\$20 x 3) + (\$10 x 4) + \$77		\$177	150	\$26,550
\$10 x 12	\$57	\$177	150	\$26,550
\$10 (10X) + \$20	\$57	\$177	200	\$35,400
\$500		\$500	20	\$10,000
\$20 (10X) + (\$10 x 20) + (\$50 x 2)		\$500	20	\$10,000
(\$10 x 18) + \$10 (10X) +		\$500	20	\$10,000
(\$20 x 11)		\$500	20	\$10,000
(\$10 x 22) + (\$27 x 3) +				
(\$17 x 5)	\$57 + \$57	\$500	20	\$10,000
\$50 (5X) + (\$20 x 10) + \$50		\$500	20	\$10,000
\$1,000		\$1,000	5	\$5,000
(\$50 x 4) + \$500 + (\$20 x 15)		\$1,000	4	\$4,000
\$500 x 2		\$1,000	4	\$4,000
(\$50 x 10) + \$500		\$1,000	4	\$4,000
\$77,777		\$77,777	4	\$311,108
2nd Chance Promotion		\$4,409	-	\$4,409
Players Loyalty Program		\$26,094		\$26,094
TOTAL		Ψ=0,001	113,751	\$2,609,941
•			110,.01	Ψ=,000,,011

- (j) The odds of winning a prize in this game are approximately one in 3.52. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-6-8-20, April 22, 2020.)
- **111-4-3621.** "Kansas Celebration" instant ticket lottery game number 185. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Kansas Celebration." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3621.
- (b) The "play symbols" and "captions" for this game are as follows:

Play Symbols	Captions
A1	
A2	
A3	
A4	
B1	
B2	
В3	
B4	
C1	
C2	
C3	
C4	
D1	
D2	
D3	

D4 E1 E2 E3 E4 F1 F2 F3 F4 G1 G2 G3 G4 H<sub>1</sub> H2 H3 H4 Symbol of a sunflower **SUNFLWR** Symbol of a tent TENT Symbol of a cup **CUP** Symbol of an ice cream cone **ICECRM** Symbol of a rooster **ROOSTER** Symbol of a hot dog **HOTDOG HORSE** Symbol of a carousel horse Symbol of a tilt-a-whirl **TILTWRL** DUCK Symbol of a duck Symbol of a hat HAT

There are no prize symbols for this game.

- (c) For this game, a play symbol shall appear in 48 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) "Kansas Celebration" is a two-part symbol match game. The first part consists of 16 "YOUR COORDI-NATES" letter/number symbols and the second part consists of a "FAIR GRID" with 32 play symbols covered with latex. The player will remove the scratch-off material to reveal 16 "YOUR COORDINATES" letter/number symbols. For each "YOUR COORDINATES" symbol, the player will find the corresponding grid location on the "FAIR GRID" and scratch only that square. If the player completely uncovers the number of identical symbols required in the prize legend printed on the front of the ticket and the identical symbols appear in a straight horizontal line in the grid, or in a straight vertical line in the grid, the player wins the corresponding prize for that symbol as shown in the prize legend. The prize legend is as follows:

Prize Legend Symbols	Prize
4 sunflower symbols	\$10,000
4 tent symbols	\$1,000
3 cup symbols	\$100
3 ice cream cone symbols	\$75
3 rooster symbols	\$50
•	Continue

**FIFTN** 

15

3 hot dog symbols	\$25
3 carousel horse symbols	\$15
3 tilt-a-whirl symbols	\$10
3 duck symbols	\$5
3 hat symbols	\$2

- (g) Each ticket in this game may win up to three times.
- (h) Approximately 700,500 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 140,100 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

		Winners Per	
	Prize	700,500	Prize Cost
\$2	\$2	115000	\$230,000
\$5	\$5	44100	\$220,500
\$10	\$10	12540	\$125,400
\$15	\$15	2500	\$37,500
\$5 + \$10	\$15	2500	\$37,500
\$25	\$25	1200	\$30,000
\$10 + \$15	\$25	1200	\$30,000
\$50	\$50	550	\$27,500
\$10 + \$15 + \$25	\$50	550	\$27,500
\$75	\$75	150	\$11,250
\$10 + \$15 + \$50	\$75	175	\$13,125
\$25 + \$50	\$75	175	\$13,125
\$100	\$100	100	\$10,000
\$25 + \$75	\$100	100	\$10,000
\$1,000	\$1,000	10	\$10,000
\$10,000	\$10,000	3	\$30,000
Players Loyalty Program			\$8,715
	TOTAL	180,853	\$872,115

- (j) The odds of winning a prize in this game are approximately one in 3.87. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-6-8-20, April 22, 2020.)
- **111-4-3623.** "Kansas City Chiefs" instant ticket lottery game number 174. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Kansas City Chiefs." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3623.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN

10	111111
16	SIXTN
17	SEVTN
18	EGHTN
19	NINTN
20	TWNTY
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR
35	THFIV
36	THSIX
37	THSEV
38	THEGT
39	THNIN
40	FORTY
2X (outlined)	WIN2X

Captions
\$5TICKET
FIVE\$
TEN\$
FIFTN\$
TWENTY
FORTY
FIFTY
HUNDRED
FIV-HUN
TWNFVTHO

- (c) For this game, a play/prize symbol shall appear in 45 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) "Kansas City Chiefs" is a key number match game with an instant win and a multiplier feature. The player will scratch the play area to reveal five "WINNING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "2X" symbol, the player wins double the prize amount shown below that symbol.
  - (g) Each ticket in this game may win up to 20 times.
  - (h) Approximately 900,000 tickets shall be ordered ini-

tially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected Value
	Prize	Prizes in Game	in Game
Free \$5 Ticket	Free Ticket	30,000	\$0
\$5	\$5	90,000	\$450,000
\$10	\$10	15,000	\$150,000
\$5 x 2	\$10	15,000	\$150,000
\$5 (2X)	\$10	45,000	\$450,000
\$15	\$15	6,000	\$90,000
\$5 + \$10	\$15	6,000	\$90,000
\$5 x 3	\$15	6,000	\$90,000
\$5 (2X) + \$5	\$15	12,000	\$180,000
\$20	\$20	600	\$12,000
\$10 x 2	\$20	1,200	\$24,000
\$5 x 4	\$20	2,400	\$48,000
\$10 (2X)	\$20	5,400	\$108,000
(\$5 x 2) + \$10	\$20	2,400	\$48,000
\$40	\$40	600	\$24,000
\$20 x 2	\$40	600	\$24,000
(\$15 x 2) + \$10	\$40	600	\$24,000
$(\$10 \times 3) + (\$5 \times 2)$	\$40	1,500	\$60,000
\$15 (2X) + \$10	\$40	1,800	\$72,000
$(\$10 \times 3) + \$5 (2X)$	\$40	2,400	\$96,000
\$50	\$50	900	\$45,000
\$20 (2X) + \$10	\$50	3,600	\$180,000
\$100	\$100	150	\$15,000
\$20 x 5	\$100	150	\$15,000
(\$5 x 10) + (\$10 x 5)	\$100	300	\$30,000
\$50 (2X)	\$100	600	\$60,000
\$20 (2X) + \$10 + \$50	\$100	900	\$90,000
$$20 (2X) + ($10 \times 6)$	\$100	900	\$90,000
\$500	\$500	6	\$3,000
\$50 (2X) x 5	\$500	18	\$9,000
$(\$100 (2X) \times 2) + (\$10 \times 10)$	\$500	30	\$15,000
$($20 \times 15) + ($40 \times 5)$	\$500	36	\$18,000
\$25,000	\$25,000	5	\$125,000
Player Loyalty Program			\$30,000
2nd Chance Promotion	\$72,000		\$72,000
TOTAL PRIZES		252,095	\$2,987,000

(j) The odds of winning a prize in this game are approximately one in 3.57. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-6-8-20, April 22, 2020.)

## **Article 9.—PULL-TAB GAMES**

**111-9-224.** "Break the Bank" pull tab ticket lottery game number 177. (a) The Kansas lottery may conduct a pull tab lottery game entitled "Break the Bank." The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-224.

(b) The play symbols for this game are as follows:

Symbol of a vault Symbol of a stack of money Symbol of a dollar sign Symbol of a moneybag

Symbol of a pot of gold

Symbol of a diamond Symbol of a gold bar Symbol of a piggy bank

- (c) For this game, three play symbols shall appear under each of eight tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three symbols of a piggy bank equal \$2.00; three symbols of a diamond equal \$5.00; three symbols of a moneybag equal \$10.00; three symbols of a stack of money equal \$25.00; three symbols of a gold bar equal \$50.00; three symbols of a dollar sign equal \$250.00; three symbols of a vault equal \$2,500.00.
- (d) The ticket numbers in each pack in this game shall start with 000 and end with 149.
- (e) The price of pull tab tickets sold by a retailer for this game shall be \$2.00 each.
- (f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in subsection (c) above. All winning combinations shall be within a single window in a horizontal line.
  - (g) Each ticket in the game may win up to eight times.
- (h) Approximately 1,800,000 tickets shall be ordered initially for this pull tab game. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of prizes in this game shall be as follows: (See corresponding play symbol values in subsection (c) above.)

	Prize Amount	Winners Per 1,800,000	Prize Cost
<b>#2</b>			
\$2	\$2	246,000	\$492,000
\$2 + \$2	\$4	85,200	\$340,800
\$5	\$5	78,000	\$390,000
\$5 + \$2	\$7	48,000	\$336,000
\$10	\$10	12,600	\$126,000
\$5 +\$5	\$10	12,600	\$126,000
\$25	\$25	3,000	\$75,000
\$5 + \$10 + \$10	\$25	3,168	\$79,200
\$5 + \$5 + \$5 + \$5 + \$5	\$25	3,600	\$90,000
\$2 + \$2 + \$2 + \$2 + \$5 + \$10	\$25	3,600	\$90,000
\$5 + \$5 + \$5 + \$5 + \$10	\$35	1,380	\$48,300
\$5 + \$10 + \$10 + \$10	\$35	1,380	\$48,300
\$50	\$50	240	\$12,000
\$5 + \$5 + \$5 + \$5 + \$5 + \$5 + \$10 +			
\$10	\$50	240	\$12,000
\$100	\$100	120	\$12,000
\$250	\$250	36	\$9,000
\$2,500	\$2,500	12	\$30,000
Players Loyalty Program	\$23,400		\$23,400
TOTAL		499,176	\$2,340,000

(j) The overall odds of winning a prize in this game are approximately one in 3.61. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-6-8-20, April 22, 2020.)

## Article 19.—SPECIFIC PLAYER LOYALTY CLUB RULES

- **111-19-82.** Lifetime of Hunting & Fishing. (a) The Kansas lottery may conduct a drawing entitled "Lifetime of Hunting & Fishing" awarding a total of 10 prizes. The Kansas lottery will accept entries into the drawing beginning at 12:01 a.m. on June 1, 2020. Entry deadline into the drawing is 11:59 p.m. on October 4, 2020. The drawing will be conducted sometime after entry into the drawing has closed but before noon on October 8, 2020, at which time the winners will be announced.
- (b) Only registered Kansas Lottery PlayOn ("PlayOn") members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted which are submitted by any method other than through PlayOn.
- (c) A total of 305 player loyalty club points are required for a PlayOn member to enter once in the drawing.
- (d) In the drawing, the first ten winners drawn will each receive: One State of Kansas resident lifetime hunting and fishing combination license, as offered by the Kansas Department of Wildlife, Parks and Tourism; \$500 cash; and state and federal mandatory income withholding taxes paid by the Kansas Lottery. Each prize is valued at approximately \$2,059.
- (e) A player may enter the drawing as many times as his or her points allow, but may win only one prize package in this drawing.
- (f) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except that in this promotion the 10-day deadline for the 10 winners to return their claim forms shall be business days and commence with the date of the announcement of the winners.
- (g) Once a completed claim form is received by the Lottery, the Kansas Lottery will mail the winner a Kansas resident lifetime hunting and fishing combination license application, which must be completed by the winner and received by the Kansas Department of Wildlife, Parks and Tourism within 30 days of the date the application is mailed to the winner. If the application is not received within 30 days, or if Kansas Department of Wildlife, Parks and Tourism does not grant the winner a license, the original winner shall retain the \$500 portion of the prize and the license portion of the prize will be forfeited. Each player who chooses to enter the drawing is responsible for determining if the player is eligible to hold a Kansas resident lifetime hunting and fishing combination license.
- (h) Prizes are not exchangeable for cash. The Kansas Lottery retains the right to substitute an alternate prize of approximate equal value.
- (i) By entering the promotion, entrant agrees to PlayOn terms and conditions.
- (j) Rules applicable to this promotion are contained in K.A.R. 111-19-82 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-6-8-20, April 22, 2020.)
- **111-19-83.** Lucky 7s Bonus Cash Promotion. (a) The Kansas lottery may conduct a "Lucky 7s Bonus Cash"

- promotion drawing awarding seven cash prizes. The Kansas lottery will accept entries into the drawing beginning at 12:01 a.m. the day Kansas lottery "Lucky 7s," "Lucky 7s Doubler," "Lucky 7s Tripler" and "Lucky 7s Multiplier" instant tickets are first offered for sale to the general public and ending at 11:59 p.m. on November 2, 2020. The drawing will be conducted sometime after entry into the drawing has closed but before noon on November 6, 2020, at which time the winners will be announced.
- (b) The specific tickets eligible for entry into this drawing shall be non-winning tickets in the following Kansas Lottery games: \$1 "Lucky 7s" game number 186; \$2 "Lucky 7s Doubler" game number 187; \$5 "Lucky 7s Tripler" game number 188; and \$10 "Lucky 7s Multiplier" game number 189.
- (c) A player shall enter the drawings through the Kansas Lottery PlayOn program available at <a href="www.kslottery.com">www.kslottery.com</a>. The player shall follow the hyperlink specifically designated for the purpose of accessing the "Lucky 7s Bonus Cash" promotion. The player may enter the required data from the entry ticket manually for entry into the drawing. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawing using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry for each dollar value of the ticket submitted into the drawing.
- (d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. The seven players selected as winners will each receive \$1,777.
- (e) There is no limit on the number of non-winning tickets a player may enter, but a player may only win one prize in this drawing.
- (f) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except that in this promotion the 10-day deadline for the seven winners to return their claim forms shall be business days and commence with the date of the announcement of the winners.
- (g) By entering the promotion, entrant agrees to Play-On terms and conditions.
- (h) Winners are responsible for state and federal income taxes.
- (i) Rules applicable to this promotion are contained in K.A.R. 111-19-83 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-6-8-20, April 22, 2020.)
- **111-19-84.** Kansas Football Gameday Experience drawings. (a) The Kansas lottery may conduct three drawings, the first entitled "Kansas University Football Gameday Experience Season Tickets" the second entitled "Kansas University Football Gameday Experience Suite Access" and the third entitled "Kansas University Football Gameday Experience Home Opener." The Kansas lottery will accept entries into the drawings beginning at 12:01 a.m. on June 15, 2020. Entry deadline for the drawings will be 11:59 p.m. on August 2, 2020. The drawings will be conducted sometime after entry into the drawings

has closed but before noon on August 6, 2020, at which time the winners will be announced.

- (b) Only registered Kansas Lottery PlayOn ("PlayOn") members may enter the drawings. PlayOn members must enter themselves into the drawings according to the terms and conditions of PlayOn. Entries shall not be accepted which are submitted by any method other than through PlayOn.
- (c) A total of 220 player loyalty club points are required for a PlayOn member to enter once in the first drawing, a total of 145 player loyalty club points are required for a PlayOn member to enter once in the second drawing, and a total of 118 player loyalty club points are required for a PlayOn member to enter once in the third drawing. A player may enter the drawing as many times as his or her points allow, but may win only one prize package per drawing.
- (d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. The Kansas lottery shall award the first two players selected in drawing one, the first 30 players selected in drawing two, and the first 16 players selected in drawing three a "Kansas Football Gameday Experience" prize package at David Booth Kansas Memorial Stadium in Lawrence, Kansas. The prize packages shall consist of the following:
- (1) Kansas University Football Gameday Experience Season Tickets winners will each receive: 2020 Kansas Football season tickets for two persons and a parking pass. Season ticket experience packages are valued at approximately \$1,197.
- (2) Kansas University Football Gameday Experience Suite Access winners will each receive 2020 Kansas Football game tickets for two persons as follows:
- (A) The first five winners (identified as numbers 1 through 5) will receive tickets to the first regular season home game;
- (B) The next five winners (identified as number 6 through 10) will receive tickets to the second regular season home game;
- (C) The next five winners (identified as number 11 through 15) will receive tickets to the third regular season home game;
- (D) The next five winners (identified as number 16 through 20) will receive tickets to the fourth regular season home game;
- (E) The next five winners (identified as number 21 through 25) will receive tickets to the fifth regular season home game;
- (F) The next five winners (identified as number 26 through 30) will receive tickets to the sixth regular season home game;
- (G) All 30 winners shall also receive food and non-alcoholic beverages in the suite. Each prize package is valued at approximately \$448.00.
- (3) For the third drawing, Kansas University Football Gameday Experience Home Opener, the Kansas lottery shall award 16 prize packages. Each prize package shall consist of the following: two general admission tickets for the Kansas University Football home opener game on September 5, 2020; entry into a hospitality tent prior to kickoff; and food and non-alcoholic beverages in the

- hospitality tent. Each prize package is valued at approximately \$180.00.
- (e) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except deadline for the winners to return their claim forms shall commence with the date of the announcement of the winners.
- (f) In the event any prize awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions or other compensation shall be provided.
- (g) By entering the drawings, entrant agrees to PlayOn terms and conditions.
- (h) Winners are responsible for any state and federal taxes.
- (i) Rules applicable to this online event drawing are contained in K.A.R. 111-19-84 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-6-8-20, April 22, 2020.)
- **111-19-85.** 2020 Intrust Bank Arena Concerts Drawings. (a) The Kansas lottery may conduct two drawings entitled "2020 Intrust Bank Arena Concerts Drawings" in which 10 Kansas lottery players will win prize packages to the concert of either Tru TV Impractical Jokers on Thursday July 30, 2020 or Alabama and The Beach Boys on Friday July 31, 2020 at the Intrust Bank Arena in Wichita, Kansas. The Kansas lottery will accept entries into the drawings beginning at 12:01 a.m. on June 1, 2020. Entry deadline for the drawings will be at 11:59 p.m. on June 28, 2020. A drawing will be conducted for each concert day selecting five winners for each drawing. The drawings will be conducted sometime after entry into the drawings has closed but before noon on July 2, 2020, at which time the winners will be announced.
- (b) Only registered Kansas Lottery PlayOn ("PlayOn") members may enter the drawings. PlayOn members must enter themselves into the drawings according to the terms and conditions of PlayOn. Entries shall not be accepted that are submitted by any method other than through PlayOn.
- (c) A total of 204 player loyalty club points are required for a PlayOn member to enter once into the drawing for the Tru TV Impractical Jokers concert. A total of 197 player loyalty club points are required for a PlayOn member to enter once into the drawing for the Alabama and The Beach Boys concert. A player may enter the drawings as many times as the player's points allow, but may win only one prize package in each concert day drawing. At the time of each entry, the player will select for which concert they are entering to win a prize package.
- (d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. For each concert day drawing, the Kansas lottery shall award five players selected prize packages. The prize packages shall consist of the following:
- (1) Tru TV Impractical Jokers winners will each receive: concert tickets for two and \$400 cash. Prize packages are valued at approximately \$1,042.
- (2) Alabama and The Beach Boys winners will each receive: concert tickets for two and \$400 cash. Prize packages are valued at approximately \$972.

- (3) State and federal mandatory income withholding taxes shall be paid by the Kansas lottery.
- (e) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except as follows: in this promotion the 10-day deadline for the winners to return their claim forms shall be 10 business days and commence with the date of the announcement of the winners; and, in this promotion five alternate winners shall be selected for each of the concert day drawings. The Kansas lottery is not responsible for electronic malfunction or player error.
- (f) In the event any prize awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions or other compensation shall be provided.
- (g) By entering the drawings, entrant agrees to PlayOn terms and conditions.
- (h) Rules applicable to this online event drawing are contained in K.A.R. 111-19-85 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-6-8-20, April 22, 2020.)
- 111-19-86. Kansas City Chiefs drawings. (a) The Kansas lottery may conduct a series of four "Kansas City Chiefs" drawings consisting of one drawing entitled "Chiefs Luxury Suite Experience" and three drawings entitled "Chiefs Field Box Experience." The Kansas lottery will accept entries into all four drawings beginning at 12:01 a.m., the day Kansas lottery "Kansas City Chiefs" instant tickets are first offered for sale to the general public and ending at various times as stated in these rules. Entries into the, "Chiefs Luxury Suite Experience" and the first "Chiefs Field Box Experience" will close at 11:59 p.m. on August 4, 2020. The drawing will be conducted sometime after entry into the drawing has closed but before noon on August 10, 2020, at which time the winners will be announced. Entries into the second "Chiefs Field Box Experience" drawing will close at 11:59 p.m. on September 22, 2020. The drawing will be conducted sometime after entry into the drawing has closed but before noon on September 28, 2020, at which time the winners will be announced. Entries into the third "Chiefs Field Box Experience" drawing will close at 11:59 p.m. on October 27, 2020. The drawing will be conducted sometime after entry into the drawing has closed but before noon on November 2, 2020, at which time the winners will be announced.
- (b) The specific ticket eligible for entry into the drawings shall be non-winning \$5 "Kansas City Chiefs" game number 174.
- (c) A player shall enter the drawing through the Kansas Lottery PlayOn program available at <a href="https://www.kslottery.com">www.kslottery.com</a>. The player shall follow the hyperlink specifically designated for the purpose of accessing the "Kansas City Chiefs drawings." The player may enter the required data from the entry ticket manually for entry into the drawings. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawings using a mobile device and a downloaded Kansas Lottery Play-On app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry for each non-winning ticket submitted into the second-chance drawings.

- (d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. For the first drawing, "Chiefs Luxury Suite Experience," the Kansas lottery shall award eight prize packages. Each winner will receive two club level tickets to a 2020 Kansas City Chiefs football game at Arrowhead Stadium in Kansas City, Missouri, as follows:
- (1) The first winner selected will receive tickets to the first regular season home game;
- (2) The second winner selected will receive tickets to the second regular season home game;
- (3) The third winner selected will receive tickets to the third regular season home game;
- (4) The fourth winner selected will receive tickets to the fourth regular season home game;
- (5) The fifth winner selected will receive tickets to the fifth regular season home game;
- (6) The sixth winner selected will receive tickets to the sixth regular season home game;
- (7) The seventh winner selected will receive tickets to the seventh regular season home game; and
- (8) The eighth winner selected will receive tickets to the eighth regular season home game.
- All eight winners shall also receive the following: parking pass; two Founders Club passes to include all-inclusive food and beverage; two pregame field passes; Kansas City Chiefs Cheerleader calendar; \$50 Chiefs gift card that may be used at the concession stand or the merchandise stores located inside Arrowhead Stadium; \$500 cash for hotel accommodations and travel expenses; and mandatory state and federal income withholding taxes paid by the Kansas lottery. Each prize package is valued at approximately \$2,147.89.
- (e) Ten prize packages shall be awarded for each of the "Chiefs Field Box Experience" drawings as follows:
- (1) The 10 selected winners in the first "Chief Field Box Experience" drawing will receive two (2) suite tickets to a Kansas City Chiefs September 2020 home game as determined by the Kansas lottery.
- (2) The 10 selected winners in the second "Chief Field Box Experience" drawing will receive two (2) suite tickets to a Kansas City Chiefs October 2020 home game as determined by the Kansas lottery.
- (3) The 10 selected winners in the third "Chief Field Box Experience" drawing will receive two (2) suite tickets to a Kansas City Chiefs November 2020 home game as determined by the Kansas lottery.

All 30 winners shall also receive the following: gold level parking pass; food and beverages; \$50 Chiefs gift card that may be used at the concession stand or the merchandise stores located inside Arrowhead stadium; Kansas City Chiefs Cheerleader calendar; \$500 cash for hotel accommodations and travel expenses; and mandatory state and federal income withholding taxes paid by the Kansas Lottery. Each prize package is valued at approximately \$3,514.00.

- (f) There is no limit on the number of non-winning tickets a player may enter, but a player may only win one prize package in each drawing.
- (g) Any entry that is not selected in a previous drawing or one that is selected as an alternate in a previous drawing, but not used as a winner, shall be eligible to win a prize in any subsequent drawing for this promotion.

- (h) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except that in this promotion the 10-day deadline for the winners to return their claim forms shall commence with the date of the announcement of the winners.
- (i) By entering the promotion, entrant agrees to PlayOn terms and conditions.
- (j) Each person who enters the drawings agrees to release Kansas City Chiefs Corporation, its parent and affiliated companies, the Kansas Lottery and their respective officers, directors, employees, agents, and sponsors from liability of any kind or nature for any loss, claims, damages, or injuries of any kind associated with participation in the drawings or with acceptance and use of any prize.
  - (k) In the event any game in the prize package award-

- ed for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions or other compensation shall be provided.
- (l) By entering the drawings, entrant agrees to PlayOn terms and conditions.
- (m) A player must have a smart phone to accept Chiefs tickets and parking passes.
- (n) Rules applicable to this online event drawing are contained in K.A.R. 111-19-86 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 74-8710; effective, T-111-6-8-20, April 22, 2020.)

Reg. No.

28-1-20

28-4-133

28-15-52

28-15-53

Stephen Durrell Executive Director

Register

V. 38, p. 924

V. 38, p. 1434

V. 39, p. 171

V. 39, p. 171

Doc. No. 048246

## INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended, and revoked administrative regulations and the volume and page number of the *Kansas Register* issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the *Kansas Administrative Regulations* and the 2019 Supplement of the *Kansas Administrative Regulations*. Regulations can also be found at http://www.sos.ks.gov/pubs/pubs\_kar.aspx.

## AGENCY 4: DEPARTMENT OF AGRICULTURE

AGRICULTURE				
Reg. No.	Action	Register		
4-34-1	New	V. 38, p. 57		
4-34-2	New	V. 38, p. 58		
4-34-3	New	V. 38, p. 58		
4-34-4	New	V. 38, p. 59		
4-34-5	New	V. 38, p. 59		
4-34-6	New	V. 38, p. 61		
4-34-7	New	V. 38, p. 62		
4-34-8	New	V. 38, p. 62		
4-34-9	New	V. 38, p. 63		
4-34-10	New	V. 38, p. 64		
4-34-11	New	V. 38, p. 64		
4-34-12	New	V. 38, p. 64		
4-34-13	New	V. 38, p. 65		
4-34-14	New	V. 38, p. 65		
4-34-15	New	V. 38, p. 66		
4-34-16	New	V. 38, p. 66		
4-34-17	New	V. 38, p. 67		
4-34-18	New	V. 38, p. 67		
4-34-19	New	V. 38, p. 68		
4-34-20	New	V. 38, p. 68		
4-34-21	New	V. 38, p. 70		

#### AGENCY 5: DEPARTMENT OF AGRICULTURE—DIVISION OF WATER RESOURCES

Reg. No.	Action	Register
5-21-7	Revoked	V. 38, p. 1296
5-25-2	Amended	V. 38, p. 1296
5-25-4	Amended	V. 38, p. 1296
5-25-22	New	V. 38, p. 1297

## **AGENCY 7: SECRETARY OF STATE**

Keg. No.	Action	Kegister			
7-47-1	New (T)	V. 38, p. 855			
7-47-1	New	V. 38, p. 1113			
AGENCY 9: DEPARTMENT OF AGRICULTURE—DIVISION OF					

### AGENCY 9: DEPARTMENT OF AGRICULTURE – DIVISION OF ANIMAL HEALTH

Keg. No.	Action	Kegister
9-18-6	Amended	V. 38, p. 55
9-18-9	Amended	V. 38, p. 56
9-18-23	New	V. 38, p. 1407
9-18-28	Amended	V. 38, p. 56
9-23-1	Revoked	V. 38, p. 1408
9-23-2	Revoked	V. 38, p. 1408
9-23-3	Revoked	V. 38, p. 1408

## AGENCY 10: KANSAS BUREAU OF INVESTIGATION

Reg. No.	Action	Register
10-22-1	Amended	V. 38, p. 1089
10-23-1	New	V. 38, p. 773
10-23-2	New	V. 38, p. 773
10-23-3	New	V. 38, p. 773
10-23-4	New	V. 38, p. 773
10-23-5	New	V. 38, p. 773
10-23-6	New	V. 38, p. 773
10-24-1	New (T)	V. 39, p. 732
10-24-2	New (T)	V. 39, p. 732
10-24-3	New (T)	V. 39, p. 732

#### AGENCY 14: DEPARTMENT OF REVENUE – DIVISION OF ALCOHOLIC BEVERAGE CONTROL

Revoked (T)

Register

V. 38, p. 856

V. 38, p. 1203

V. 39, p. 462

Action

Revoked

Reg. No.

14-6-4

14-6-4

16-20-1

		. 1
AGENC	Y 16: ATTORN	EY GENERAL
Reg. No.	Action	Register
16-18-1	New	V. 38, p. 856
16-18-2	New	V. 38, p. 856
16-18-3	New	V. 38, p. 857
16-19-1	New	V. 39, p. 208
16-19-2	New	V. 39, p. 208
16-19-3	New	V. 39, p. 208

## AGENCY 17: OFFICE OF THE STATE BANK COMMISSIONER

New (T)

Reg. No.	Action	Register
17-23-9	Revoked	V. 39, p. 14

## AGENCY 28: DEPARTMENT OF HEALTH AND ENVIRONMENT

Action

New

Amended

Amended

Amended

20-13-33	Amended	v. 55, p. 171
28-24-1	Amended	V. 39, p. 336
28-24-2	Amended	V. 39, p. 336
28-24-3	Amended	V. 39, p. 336
28-24-4	Amended	V. 39, p. 337
28-24-5	Amended	V. 39, p. 337
28-24-6	Amended	V. 39, p. 337
28-24-7	Amended	V. 39, p. 337
28-24-8	Amended	V. 39, p. 337
28-24-9	Amended	V. 39, p. 337
28-24-10	Amended	V. 39, p. 338
28-24-11	Amended	V. 39, p. 338
28-24-12	Amended	V. 39, p. 338
28-24-13	Amended	V. 39, p. 339
28-24-14	Amended	V. 39, p. 339
28-35-146a	Amended	V. 38, p. 130
28-35-147a	Amended	V. 38, p. 130
28-44-12	Amended	V. 39, p. 819
28-44-13	Amended	V. 39, p. 819
28-44-14	Amended	V. 39, p. 819
28-44-15	Amended	V. 39, p. 820
28-44-16	Amended	V. 39, p. 820
28-44-17	Amended	V. 39, p. 820
28-44-18	Amended	V. 39, p. 821
28-44-19	Amended	V. 39, p. 821
28-44-20	Amended	V. 39, p. 821
28-44-21	Amended	V. 39, p. 821
28-44-22	Amended	V. 39, p. 822
28-44-23	Amended	V. 39, p. 822
28-44-24	Amended	V. 39, p. 822
28-44-25	Amended	V. 39, p. 822
28-44-26	Amended	V. 39, p. 823
28-44-27	Amended	V. 39, p. 823
28-44-28	Revoked	V. 39, p. 824
28-44-29	Amended	V. 39, p. 824
28-44-30	New	V. 39, p. 825
28-44-31	New	V. 39, p. 825
28-55-1	Revoked	V. 38, p. 1024
28-55-2	Revoked	V. 38, p. 1024 V. 38, p. 1024
28-55-3	Revoked	V. 38, p. 1024 V. 38, p. 1025
28-55-4	Revoked	V. 38, p. 1025
28-55-5	Revoked	V. 38, p. 1025 V. 38, p. 1025
		=
AGENCY 3	0: KANSAS I	DEPARTMENT

#### AGENCY 30: KANSAS DEPARTMENT FOR CHILDREN AND FAMILIES

**Reg. No.** Action Register 30-4-34 Amended V. 38, p. 403

V. 38, p. 889

V. 38, p. 891 V. 38, p. 891

V. 38, p. 892 V. 38, p. 892

V. 38, p. 893 V. 38, p. 893 V. 38, p. 893

V. 38, p. 893 V. 38, p. 894

V. 38, p. 894 V. 38, p. 894

V. 38, p. 894

V. 38, p. 894 V. 38, p. 894

V. 38, p. 895

V. 38, p. 895

V. 38, p. 895 V. 38, p. 895

V. 38, p. 895 V. 38, p. 896 V. 38, p. 896

V. 38, p. 896 V. 38, p. 896

V. 38, p. 897

072			Ka	ansas Reg	rister		muex to
					,		
30-4-35	Amended	V. 38, p. 403	A	GENCY 63: BOA		82-4-31	Amended
30-4-36	Amended	V. 38, p. 403		<b>MORTUARY A</b>	RTS	82-4-3m	Amended
30-4-40	Amended	V. 38, p. 403	Reg. No.	Action	Register	82-4-3n	Amended
30-4-41	Amended	V. 38, p. 404	63-5-3	New	V. 38, p. 183	82-4-30	Amended
30-4-50	Amended	V. 38, p. 404	03-3-3	New	v. 36, p. 163	82-4-20	Amended
30-4-51	Amended	V. 38, p. 405	A	GENCY 66: BOA	RD OF	82-4-21	Amended
30-4-54	Amended	V. 38, p. 405	TEC	HNICAL PROFI	ESSIONS	82-4-22	Amended
30-4-64	Amended	V. 38, p. 406	Pag No	Action	Register	82-4-24a	Amended
30-4-90	Revoked	V. 38, p. 407	Reg. No. 66-7-4	New		82-4-27	Amended
30-4-98	Amended	V. 38, p. 407	66-9-7	Amended	V. 38, p. 989	82-4-30a	Amended
30-4-100	Amended	V. 38, p. 407	66-10-1	Amended	V. 38, p. 622	82-4-40	Revoked
30-4-107	Amended	V. 38, p. 408	66-10-3	Amended	V. 38, p. 622	82-4-42	Amended
30-4-109	Amended	V. 38, p. 408	66-15-1	New	V. 38, p. 622	82-4-44	Revoked
30-4-111	Amended	V. 38, p. 409	00-13-1	New	V. 39, p. 14	82-4-46	Revoked
30-4-113	Amended	V. 38, p. 409				82-4-48	Amended
30-4-120	Revoked	V. 38, p. 410				82-4-48a	Revoked
30-4-130	Amended	V. 38, p. 410	A	GENCY 67: BOA	RD OF	82-4-50	Amended
30-4-140	Amended	V. 38, p. 412	EX	AMINERS IN F	ITTING	82-4-51	Amended
30-46-10	Amended	V. 38, p. 128	AND D	DISPENSING OF	F HEARING	82-4-53	Amended
30-46-13	Amended	V. 38, p. 128		INSTRUMEN	TS	82-4-56a	Amended
30-46-15	Amended	V. 38, p. 129	D N-	A -42	D!	82-4-57	Amended
30-46-17	Amended	V. 38, p. 129	<b>Reg. No.</b> 67-1-8	<b>Action</b> New	Register	82-4-58d	Amended
ACEN	CV 45 DEDART	NATION OF			V. 38, p. 1489	82-4-63	Amended
	ICY 47: DEPART		67-2-4	Amended	V. 38, p. 1489	82-4-65	Amended
	H AND ENVIRO		67-5-5	Amended	V. 38, p. 1490	82-4-66	Revoked
MINED-L	AND CONSERV		AGENCY	68: BOARD OF	PHARMACY	82-4-68	Amended
	RECLAMATIO	JN	D 17		D 11	82-4-85	Amended
Reg. No.	Action	Register	Reg. No.	Action	Register	82-4-86	Revoked
47-2-75	Amended	V. 38, p. 84	68-2-5	Amended	V. 39, p. 105	۸۲	ENCY 86: REA
47-3-1	Amended	V. 38, p. 86	68-2-10	Amended	V. 38, p. 1463	AG	COMMISSI
47-3-2	Amended	V. 38, p. 86	68-5-16	Amended	V. 39, p. 106		
47-3-42	Amended	V. 38, p. 86	68-7-15	Amended	V. 38, p. 1337	Reg. No.	Action
47-5-5a	Amended	V. 38, p. 90	68-11-1	Amended	V. 38, p. 541	86-1-10	Amended
47 ( 1	A	V 20 - 02	68-11-2	Amended	V. 38, p. 541	86-1-11	Amended (

Reg. No.	Action	Register
47-2-75	Amended	V. 38, p. 84
47-3-1	Amended	V. 38, p. 86
47-3-2	Amended	V. 38, p. 86
47-3-42	Amended	V. 38, p. 86
47-5-5a	Amended	V. 38, p. 90
47-6-1	Amended	V. 38, p. 93
47-6-2	Amended	V. 38, p. 93
47-6-3	Amended	V. 38, p. 94
47-6-4	Amended	V. 38, p. 94
47-6-6	Amended	V. 38, p. 94
47-6-8	Amended	V. 38, p. 94
47-6-9	Amended	V. 38, p. 95
47-6-10	Amended	V. 38, p. 95
47-6-11	Amended	V. 38, p. 95
47-7-2	Amended	V. 38, p. 96
47-8-9	Amended	V. 38, p. 96
47-9-1	Amended	V. 38, p. 97
47-9-4	Amended	V. 38, p. 103
47-10-1	Amended	V. 38, p. 103
47-11-8	Amended	V. 38, p. 105
47-12-4	Amended	V. 38, p. 105
47-13-4	Amended	V. 38, p. 106
47-14-7	Amended	V. 38, p. 107
47-15-1a	Amended	V. 38, p. 107
47-16-6	Amended	V. 38, p. 108
47-16-9	Amended	V. 38, p. 108
47-16-10	Amended	V. 38, p. 108
47-16-12	Amended	V. 38, p. 109
47-16-13	New	V. 38, p. 109

#### **AGENCY 51: DEPARTMENT OF** LABOR-DIVISION OF WORKERS COMPENSATION

Keg. No.	Action	Kegister
51-9-7	Amended	V. 38, p. 231
51-9-17	Amended	V. 38, p. 212

#### **AGENCY 60: BOARD OF** NURSING

Reg. No.	Action	Register
60-4-101	Amended	V. 38, p. 545
60-16-101	Amended	V. 39, p. 12
60-16-103	Amended	V. 39, p. 12
60-16-104	Amended	V 39. p 13

Reg. No. 68-2-5 68-2-10 68-5-16 68-7-15 68-11-1 68-11-2 68-14-1 68-14-3 68-14-4 68-14-5 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-14-7 68-18-7 68-18-7 68-18-7 68-18-7 68-18-7 68-18-	Action Amended Amended Amended Amended Amended Amended Revoked Amended Revoked Amended Amended Revoked Amended New New	Register V. 39, p. 105 V. 38, p. 1463 V. 39, p. 106 V. 38, p. 541 V. 38, p. 541 V. 38, p. 1463 V. 38, p. 1464 V. 38, p. 1466
68-14-7	Amended	V. 38, p. 1464

## **AGENCY 69: BOARD OF** COSMETOLOGY

Reg. No.	Action	Register
69-1-10	New	V. 38, p. 84
AGENC	Y 71: BOARD	OF REGENTS

Reg. No.	Action	Register
71-2-2	Amended	V. 38, p. 1405
71-2-3	Revoked	V. 38, p. 1406
71-5-11	Amended	V. 38, p. 1406
71-8-8	Amended	V. 38, p. 1407

### **AGENCY 74: BOARD OF ACCOUNTANCY**

Register

V. 38, p. 1337

V. 38, p. 888

V. 38, p. 888

Action

Amended

Reg. No.

74-1-3

82-4-3j

82-4-3k

AGENCY 82: STATE CORPORATION COMMISSION			
Reg. No.	Action	Register	
82-4-1	Amended	V. 38, p. 875	
82-4-2a	Amended	V. 38, p. 876	
82-4-3b	Amended	V. 38, p. 876	
82-4-3c	Amended	V. 38, p. 877	
82-4-3d	Amended	V. 38, p. 878	
82-4-3f	Amended	V. 38, p. 879	
82-4-3g	Amended	V. 38, p. 882	
82-4-3h	Amended	V. 38, p. 885	
82-4-3i	Amended	V. 38, p. 886	
		** ** *	

#### V. 38, p. 897 nended V. 38, p. 897 nended voked V. 38, p. 898 86: REAL ESTATE MMISSION

Reg. No.	Action	Register
86-1-10	Amended	V. 39, p. 54
86-1-11	Amended (T)	V. 38, p. 855
86-1-11	Amended	V. 39, p. 55
86-1-12	Amended	V. 39, p. 56
86-1-13	Revoked	V. 39, p. 56
86-1-16	Revoked	V. 39, p. 56
		V. 39, p. 56
86-1-16	Revoked	V. 39, p. 56
86-1-17	Amended	V. 39, p. 56
86-1-18	Revoked	V. 39, p. 56
86-3-6a	Revoked	V. 39, p. 56
86-3-7	Amended	V. 39, p. 56
86-3-20	Revoked	V. 39, p. 57

## **AGENCY 88: BOARD OF REGENTS**

Reg. No.	Action	Register
88-25-1	New	V. 39, p. 748
88-25-2	New	V. 39, p. 748
88-25-3	New	V. 39, p. 748
88-25-4	New	V. 39, p. 748
88-25-5	New	V. 39, p. 748
88-28-6	Amended	V. 38, p. 1435

#### **AGENCY 92: DEPARTMENT OF** REVENUE

Keg. No.	Action	Kegister
92-19-56	Revoked	V. 38, p. 1470
92-56-2	Amended	V. 38, p. 1196

#### **AGENCY 100: BOARD OF HEALING ARTS**

Reg. No.	Action	Register
100-11-1	Amended	V. 38, p. 344
100-28a-14	Amended	V. 38, p. 184
100-28b-1	New	V. 38, p. 1490
100-28b-5	New	V. 38, p. 1491
100-28b-15	New	V. 38, p. 1491
100-28b-16	New	V. 38, p. 1491
100-28b-17	New	V. 38, p. 1491
100-28b-18	New	V. 38, p. 1491
100-29-4	Amended	V. 38, p. 1492
100-29-9	Amended	V. 38, p. 1492
100-69-7	Amended	V. 38, p. 1493
100-69-10	Amended	V. 38, p. 1494
100-76-2	Amended	V. 38, p. 184
100-77-1	New (T)	V. 38, p. 8

Amended

Amended

100-77-1	New	V. 38, p. 447
100-77-2	New (T)	V. 38, p. 8
100-77-2	New	V. 38, p. 448
100-77-3	New (T)	V. 38, p. 8
100-77-3	New	V. 38, p. 448
100-78-1	New (T)	V. 39, p. 250
100-78-1	New	V. 39, p. 570
100-78-2	New (T)	V. 39, p. 250
100-78-2	New	V 39 p 570

## AGENCY 102: BEHAVIORAL SCIENCES REGULATORY BOARD

Reg. No.	Action	Register
102-1-13	Amended	V. 38, p. 185
102-1-18	Amended	V. 38, p. 212
102-2-3	Amended	V. 38, p. 185
102-2-14	Amended	V. 38, p. 212
102-3-2	Amended	V. 38, p. 185
102-3-15	Amended	V. 38, p. 212
102-4-2	Amended	V. 38, p. 186
102-4-15	Amended	V. 38, p. 212
102-5-2	Amended	V. 38, p. 186
102-5-14	Amended	V. 38, p. 212
102-7-2	Amended	V. 38, p. 186
102-7-12	Amended	V. 38, p. 212

## AGENCY 105: BOARD OF INDIGENTS' DEFENSE SERVICES

## AGENCY 109: BOARD OF EMERGENCY MEDICAL SERVICES

Reg. No.	Action	Register
109-3-3	Amended	V. 39, p. 30
109-3-4	Amended	V. 39, p. 31
109-5-1	Amended	V. 38, p. 153
109-5-1a	Amended	V. 39, p.32
109-8-1	Amended	V. 38, p. 153
109-8-2	Amended	V. 38, p. 154
109-11-1a	Amended	V. 39, p.32
109-11-6a	Amended	V. 38, p. 154

## **AGENCY 111: KANSAS LOTTERY**

A complete index listing all regulations filed by the Kansas Lottery from 1988 through 2000 can be found in the Vol. 19, No. 52, December 28, 2000 Kansas Register. A list of regulations filed from 2001 through 2003 can be found in the Vol. 22, No. 52, December 25, 2003 Kansas Register. A list of regulations filed from 2004 through 2005 can be found in the Vol. 24, No. 52, December 29, 2005 Kansas Register. A list of regulations filed from 2006 through 2007 can be found in the Vol. 26, No. 52, December 27, 2007 Kansas Register. A list of regulations filed from 2008 through No-

vember 2009 can be found in the Vol. 28, No. 53, December 31, 2009 Kansas Register. A list of regulations filed from December 1, 2009, through December 21, 2011, can be found in the Vol. 30, No. 52, December 29, 2011 Kansas Register. A list of regulations filed from December 22, 2011, through November 6, 2013, can be found in the Vol. 32, No. 52, December 26, 2013 Kansas Register. A list of regulations filed from November 7, 2013, through December 31, 2015, can be found in the Vol. 34, No. 53, December 31, 2015 Kansas Register. A list of regulations filed from 2016 through 2017, can be found in the Vol. 36, No. 52, December 28, 2017 Kansas Register. A list of regulations filed from 2018 through 2019, can be found in the Vol. 38, No. 52, December 26, 2019 Kansas Register.

Action

New

New

New

**Register** V. 39, p. 57 V. 39, p. 58

V. 39, p. 59

Reg. No.

111-4-3595

111-4-3596

111-4-3597

111-4-3377	New	v. 39, p. 39
111-4-3598	New	V. 39, p. 60
111-4-3599	New	V. 39, p. 61
111-4-3600	New	V. 39, p. 63
111-4-3601	New	V. 39, p. 532
111-4-3602	New	V. 39, p. 533
111-4-3603	New	V. 39, p. 570
111-4-3604	New	V. 39, p. 572
111-4-3605	New	V. 39, p. 573
111-4-3606	New	V. 39, p. 574
111-4-3607	New	V. 39, p. 576
111-4-3608	New	V. 39, p. 621
111-4-3609	New	V. 39, p. 623
111-4-3610	New	V. 39, p. 624
111-5-245	New	V. 39, p. 577
111-9-223	New	V. 39, p. 625
111-19-72	Amended	V. 39, p. 64
111-19-73	New	V. 39, p. 64
111-19-74	New	V. 39, p. 65
111-19-75	New	V. 39, p. 65
111-19-76	New	V. 39, p. 74
111-19-77	New	V. 39, p. 578
111-19-78	New	V. 39, p. 579
111-19-79	New	V. 39, p. 580
111-19-80	New	V. 39, p. 626
111-19-81	New	V. 39, p. 626
111-301-4	Amended	V. 39, p. 534
111-301-5	Amended	V. 39, p. 534
111-301-6	Amended	V. 39, p. 535
111-301-43	Amended	V. 39, p. 537
111-301-60	Amended	V. 39, p. 66
111-301-62	Amended	V. 39, p. 67
111-301-64	Amended	V. 39, p. 538
111-301-66	Amended	V. 39, p. 538
111-302-4	Amended	V. 39, p. 68
111-305-5	Amended	V. 39, p. 539
111-305-6	Amended	V. 39, p. 539
111-401-253	New	V. 39, p. 69
111-401-254	New	V. 39, p. 69
111-401-255	New	V. 39, p. 71
		-

111-501-71	Amended	V. 39, p. 71
111-501-81	Amended	V. 39, p. 71
111-501-149	New	V. 39, p. 72
111-501-150	New	V. 39, p. 72
111-501-151	New	V. 39, p. 73
111-501-152	New	V. 39, p. 73
111-501-153	New	V. 39, p. 74
111-601-6	Amended	V. 39, p. 540

## AGENCY 112: KANSAS RACING AND GAMING COMMISSION

Reg. No.	Action	Register
112-105-1	Amended	V. 39, p. 251

## AGENCY 115: DEPARTMENT OF WILDLIFE, PARKS AND TOURISM

Reg. No.	Action	Register
115-2-1	Amended	V. 38, p. 1089
115-2-3	Amended	V. 38, p. 370
115-2-4	Amended	V. 38, p. 371
115-2-7	Revoked	V. 38, p. 1091
115-3-2	Amended	V. 38, p. 371
115-4-2	Amended	V. 39, p. 617
115-4-4	Amended	V. 39, p. 618
115-4-6	Amended	V. 39, p. 619
115-4-11	Amended	V. 38, p. 372
115-5-1	Amended	V. 38, p. 541
115-5-2	Amended	V. 38, p. 542
115-5-3	Amended	V. 38, p. 1091
115-5-3a	New	V. 38, p. 1091
115-5-4	Amended	V. 38, p. 542
115-6-1	Amended	V. 38, p. 543
115-7-1	Amended	V. 38, p. 1409
115-7-3	Amended	V. 38, p. 1410
115-7-4	Amended	V. 38, p. 1410
115-7-10	Amended	V. 38, p. 1411
115-8-1	Amended	V. 38, p. 543
115-8-13a	New	V. 38, p. 1169
115-9-5	Amended	V. 38, p. 375
115-9-9	Amended	V. 38, p. 1411
115-11-2	Amended	V. 38, p. 127
115-13-4	Amended	V. 38, p. 544
115-15-1	Amended	V. 38, p. 1412
115-15-2	Amended	V. 38, p. 1413
115-18-6a	Amended	V. 38, p. 1414
115-20-7	Amended	V. 38, p. 545
		=

#### AGENCY 128: DEPARTMENT OF COMMERCE—KANSAS ATHLETIC COMMISSION

Reg. No.	Action	Register
128-5-1	Amended	V. 38, p. 1197
128-6-8	New	V. 38, p. 1198

#### AGENCY 129: DEPARTMENT OF HEALTH AND ENVIRONMENT — DIVISION OF HEALTH CARE FINANCE

Reg. No.	Action	Register
129-9-9	New (T)	V. 39, p. 647
129-10-31	Amended	V. 39, p. 800

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594